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Yknaoaui:

Tersina BOTBUH, nokrop dinocodii, noneHt xadenpn ykpaiHo3HaBCTBA Ta MIKKYJIBTYPHOI
KoMyHiKaii HaB4anbHO-HayKOBOrO I1HCTHTYTY IICHXOJIOTiI Ta COLIANBHOTO 3aXHCTY
JIbBIBCHKOTO IEP>KaBHOT'O YHIBEPCUTETY O€3MEKH XKUTTENISUIBHOCTI;

Jlinin BEPBULBKA, kanauaat GinonorivHux Hayk, 3aBigyBad Kadeapn yKpaiHO3HaBCTBa Ta
MDKKYJIBTYpHOI KOMYyHiKalii HaB4aabHO-HayKOBOTO IHCTHUTYTY IICHXOJOTii Ta COIIaJIbHOTO
3axucty JIbBIBCHKOTO JIepKaBHOTO YHIBEPCUTETY O€3MEKH KUTTEIISITBHOCTI;

lamuna XJVIMIIABKA, xanaunoar nHeqaroriyHMX HayK, CTaplidii BHKIagad Kadeapu
yKpaiHO3HABCTBA Ta MIXKKYJIbTYpHOI KOMyHikanil HaB4anbHO-HayKOBOro iHCTUTYTY IICUXOJIOTI]
Ta COLIAIBHOTO 3aXUCTy JIEBIBCHKOTO JIEPKABHOTO YHIBEPCUTETY O€3MEKH KUTTENISUITBHOCTI.
Tersina KOHIBIIBKA, kanmugat nenaroriyHuX HayK, CTapIidii BUKIagad Kadeapu
yKpaiHO3HABCTBA Ta MIXKKYIBTYPHOI KOMyHiKanil HaBuansHO-HayKOBOTO iHCTUTYTY IICHXOJIOTI]
Ta COLIAIBHOTO 3aXUCTY JIbBIBCHKOTO JEPKABHOIO YHIBEPCUTETY O€3MEKU SKUTTEAISUIIBHOCTI.
CraniciaB KOBAJIb, Bukianau kadenpu ykpaiHO3HABCTBA Ta MIXKYJIBTYPHOI KOMYHiKaIlii
HaByanbHO-HayKOBOTO 1HCTUTYTY TIICHXOJIOTii Ta COIIQJILHOrO 3axucTy JIBbBIBCHKOTO
JIEPI)KABHOTO YHIBEPCHUTETY OE3MEKH YKUTTENISUTEHOCTI.

Terana IIYHJAUK, Buknamau kadenpu ykpaiHO3HaBCTBA Ta MIKKYJIBTYPHOI KOMYyHiKamii
HaBuanbHO-HayKOBOrOo IHCTUTYTy IICHXOJIOTii Ta comianebHOro 3axucty JIbBiBCHKOro
JIepP>KaBHOTO YHIBEPCUTETY O€3MEeKH YKUTTE NI SUTEHOCTI.

Peuyenzenm . Oxcana MYCIﬁOBCLKA, KaHIUIAT NEeJaroriyHuX HaykK, BUKIJIAJAad,
JIOLIEHT Kadepy iHO3eMHUX MOB YKpaiHCBhKOI akazeMil JpyKapcTBa

PexomennoBano no myOumikamii kademporo yKpaiHO3HaBCTBA Ta MDKKYJIBTYPHOI
KOMyHiKarif
IIporoxon Ne 4 Bix 03 6epesns 2023 poky.
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BCTVII,

HapuanpHi 3aBIaHHS 17151 caMOCTiifHOT poOOTH IpH3HAYEeH] Il 3100yBayiB BUILOI OCBITH
crienianbHocTi 073 MeHemKMEHT, 30KpeMa IX MOXYTh 3aCTOCOBYBAaTH 3/100yBadi OCBITH
0akanaBpChKOTrO Ta MariCTepChbKOro PiBHS Ha MPAKTHYHUX 3aHATTIX 3 (axoBoi aHITiHCHKOI
MoBU. 3mo0yBadi sk OakalaBpChKOro (OCBITHBO-TIpoQeciiiHa mporpama «MeHEeIHKMEHT
oprasizamiii Ta agMiHICTpyBaHHS»), TaK 1 MaricTepcbkoro (OcBiTHbO-TpodeciiiHa mporpaMa
«YTpaBiHHA TPOSKTAaMH») PiBHS BHUINOI OCBITH crneniadbHOocTi 073 MeHEeDKMEHT MOBHUHHI
OTPUMYBATH HAJIEXKHY NpodeciiiHy miaroToBKy, OyTH (GaxiBIAMM, 3MaTHUMHU 11eHTH(}IKyBaTH
Ta BUpILNIyBaTH CKJIAJHI CIeNiali3oBaHi 3aBJaHHA Ta MPaKTUYHI MOpoOieMH, IO
nepenbayaroTh  BIIPOBADKCHHsS IHHOBaWiii y cdepi MEHEMKMEHTy oprasizamiii Ta
aJMiHICTpyBaHHA W yHpaBNiHHSA TpoekTaMu. J[Is TOro moO OpieHTYBaTHUCS B HOBHUHKAX
npodeciitHoi chepr, BapTO Ha HAIGKHOMY PiBHI BUBYATH (PaXxOBY aHTIIHCEKY MOBY, aJkKe Ie
JacTh MOJJIMBICTh ONpambOBYBATH 3M00YTKH 3aKOPAOHHHX aBTODIB, SKHAWHIIBHIIE
BHKOPHCTOBYBATH HAHOBIIII 3apyOiHI METOAUKH.

MeTa HaBYaJBHUX 3aBJaHb — 3a0€3[E€YUTH BAOCKOHAJIEHHS HABHUYOK, HEOOXIMHHUX IS
BelleHHs Oeccimy, O(GOPMIICHHS BIiAMOBIAHOI MOKYMEHTAIl Ta PO3YMIHHS aHTJIOMOBHHX
TEKCTIB ()axoBOi JiTEpaTypH B Taly3i €KOHOMIKM Ta aJMIHICTpYBaHHs opraHizamismu. [lo
3araJJbHUX KOMIIETEHTHOCTEH 3100yBadiB OaKalaBPCHKOrO pIiBHS BHINOi OCBITH BHIIE
3a3HAYCHOI CIEIIANbHOCTI Cepel IHIIMX HAJCKUTh 30KpeMa 3/IaTHICTh CIIJIKYBAaTHCS
1HO3EMHOI0O MOBOIO Ta 3/aTHICTh NPALIOBATH y MIDKHAPOIHOMY KOHTEKCTi, a 3[aTHICTh
CTBOPIOBATH Ta OPraHi3oBYyBaTH e()EKTUBHI KOMYHIKallil B IIPOLEC] YNPaBIiHHA € OJHIEI0 31
crerianbHuX (PaxoBHX) KOMICTEHTHOCTEH. 3aB/sIKH [[MM HaBYAJIbHUM 3aBJaHHSIM 3700yBadi
3MOXYTh OIAHYBATH AHIIIHCHKOI TEPMIHH 3 €KOHOMIKH Ta MEHEIKMEHTY, IO Ii3HaBaJIU
YKpaiHCBKOIO MiJl 4aC BUBUCHHS JUCIMIUTIH SK LUKy 3arajbHOl miaroroBku («ExoHOMivHA
Teopis (MIKPOEKOHOMiKa, MaKpOEKOHOMika)», «CTaTHCTHKa»), TaK 1 IHUKIY NpodinbHOT
niarotoBku («OCHOBH mimnpueMHHITBa», «MapkeTnnr», «®DiHaHCH, Tpoll Ta KpeauTy,
«OCHOBHU Teopii cUCTEM Ta CHCTEMHOIO aHaji3y»). 3pelIToro, 1ie JO3BOJIUTH JOCATHYTH ONUH
i3 TIPOrPaMOBUX Pe3yJIbTaTiB HABYAHHS: BMIHHS CIIUJIKYBaTHCh B YCHIW Ta MUCBMOBIH (opmi
iHo3eMHOO MoBor. Illo k 10 Marictepchkoro piBHS BHIIOI OCBITH cremianbHOCTI 073
MeHeKMEHT, TO 3TiHO 3 BIIMOBIIHOK OCBITHBO-NIPOQECIHHOI MPOrpaMoI0 TYT BaXKIUBUM
€ BMIHHS CIIUIKyBaTHCh I1HO3€MHOIO MOBOIO B MpodecifHUX 1 HAYKOBHX KOJaX.
3anponoHOBaHi HaBYaIbHI 3aBJaHHS JONOMOXYTb CTyIGHTaM 3000yTH 3HaHHA s
CIIJIKYBaHHA 3 MPEICTaBHUKAMH 1HIINX MpodeciiHUX Ipyn pi3HOro piBHA (3 eKcmepTramu 3
IHIDUX Taiy3eil eKOoHOMIuHOI misutbHOCTi). JlocTaTHE BoNOmiHHSA (DaXOBOKO AHIIIIHCHKOO
CIpHUATHME TaKOXX PO3BUTKY 3/JaTHOCTI CTBOPIOBATH Ta OpPraHi3oBYBaTH e(EKTUBHI

KOMYHIKalii B mpomneci ynpaBiiHHSA. TakuM 4uHOM 37100yBadi BMITHMYTh CHUIKYBAaTHCh B

o
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npodeciifHuX Ta HAyKOBHUX KOJIaX 1HO3EMHOIO MOBOIO.

HapuanpHi 3aB1aHHs MIiCTATh 9 aHTIIOMOBHUX TEKCTIB, 10 KOXKHOTO 3 SIKUX MiiOpaHO psijt
JIEKCUYHUX 3aBJaHb Ta I'paMaTHYHUX BIPaB, SIKi JONOMArarTh ONpAIIOBATH Ta 3aCBOITH
Marepiai, Ta JOZATKOBHH TEKCT JUIS CAaMOCTIHHOTO OIPAIIOBAHHS, 3 METOIO CaMOIICPEBIPKU
Ha 3aCBOEHHS OIIPAI[bOBAHOT0 MaTepiaiy. Jlo OCHOBHUX TEKCTIiB JOMA€THCS CIOBHHK-MiHIMYyM
eKOHOMIUHHX TepMiHiB (230 TepMiHONOTIYHUX OAMHHIE), SKi TPAILIOThCA B TekcTax. 1lloxo
caMHX 3aBJaHb, TO BOHM IOOYJOBaHI Ha ONAHyBaHHI IPaMAaTHKH Ta BUBYCHHI JIEKCHKH.
3okpema Iie BIPaBH TaKUX THIIIB:

- YCHI BIJNIOBi/i HA 3aIIUTaHHS JI0 TEKCTY;

- CKIQJaHHS PEYeHb i3 3aIPOIIOHOBAHIMH 3 TEKCTY TePMiHAMH;

- mpaBza/ OpexHs;

- IyHKTyauis i opdorpadis;

- YTBOPEHHS CKJIaJHHUX PEUYCHb i3 MPOCTHX;

- TIaCUBHUMU CTaH;

- mepekial (axoBHX PEUCHb UM TEKCTY 3 YKPATHCHKOI Ha aHTJIIHCHKY i HaBIIaKy TOLIO.

HaBwanbHi 3aBIaHHS TAaKOro THITy HA YUTaHHS 1 aHali3 (axOoBOro aHIIIOMOBHOTO TEKCTY
CIIPUSIIOTh PO3BUTKY YCHOTO MOBIECHHS, TPAaMaTHYHUX KOMIIETCHTHOCTEH Ta IepeKiIaJabKuxX
TpaHcopMmariif, a TakoX TNPOAYKYBAaHHIO BIACHHUX (DaxOBUX TEKCTIB 1HO3EMHOIO

(aHTTIHCHKOI0) MOBOIO.

[O'r(bopma'ruposauo: Cnpasa: 0,63 cm
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UNIT 1

The Science of Economics

The science of economics is based upon the facts of our everyday lives. Economists study
our everyday lives and the general life of our communities in order to understand the whole
economic system of which we are part. They try to describe the facts of the economy in
which we live, and to explain how it all works. The economist's methods should of course be
strictly objective and scientific.

We need food, clothes and shelter. We probably would not go to work if we could satisfy
these basic needs without working. But even when we have satisfied such basic needs, we
may still want other things. Our lives might be more enjoyable if we had such things as
radios, books and toys for the children. Human beings certainly have a wide and very
complex range of wants. The science of economics is concerned with all our material needs:
it is concerned with the desire to have a radio as well as the basic necessity of having enough
food to eat.

Vocabulary:

economics eKOHOMiIKa (HayKa)
economist €KOHOMICT
community CYCHIJIBCTBO, OOIINHA
economy E€KOHOMIKa

to satisfy 3a7J0BOJIbHATH

basic needs OCHOBHI (IEpBUHHI) TOTpeOH
want OarkaHHs
material needs MaTepiansHi moTpetu
basic necessity OCHOBHa IOTpe6a
Exercises:

1 Answer these questions, basing your answers on the text.
a What is economics ?
b What is it based upon?
¢ What two things do economists study?
d What do they try to do?
e What do they try to explain?
f What should the methods of the economists be like?
g What three essential things do we need ?
h What would happen if we could get these essentials without working?
i What might make life more enjoyable?
j What is economics concerned with ?

2. Study the example. It shows how a conditional sentence is organized. Do the same with
the pairs of sentences which follow.
EXAMPLE
X = We have money. Y = We can buy food.
If X, Y = If we have money, we can buy food.
a. X =We have a radio.
Y = We can listen to the programmes.

b X =We have food, shelter and clothes.
Y = We have the basic necessities of life.

[

[5‘. 6 p me ([11]):
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¢ X =You want to get new clothes.
Y = You must earn some money.

d X =The economic system of a country is strong.
Y = The people will be able to satisfy their wants.

e X =He wants to become an economist.
Y = He must study economics books
3.Now turn the sentences of Exercise 2 completely round.
EXAMPLE Y = We can buy food. X = We have money. Y, if X = We can buy food, if we
have money.

4. Punctuate the following passage. Provide capital letters, commas, full stops, brackets,
colons etc., where applicable.

most people must work to earn their living they produce goods and services this is called
economic activity all economic activities together make up the economic system this system
is very complex economists study the economic system and try to describe and explain it they
study the work we do and the needs we have if you wish to learn about the science of
economics you must study both books and people

5. Say whether these statements are true (T) or false (F), and if theyare false say why.

) Economics is a scientific study.

) Economists try to under-stand only part of the economic system.

) If we could satisfy our basic needs without working, we would still work..
) Radios, books and toys are basic commodities.

) The range of human wants is very complex.

) Clothes and shelter are non- essential human needs,

) Economic studies are essentially non-scientific,

a
b
c
d
e
f
g
h () Economists study the general life of our communities.

(
(
(
(
(
(
(
(

6.Combine these pairs of sentences and make them conditional. You must decide whether if
goes at the beginning of the first sentence or the second.

a He must study. He wants to become an economist.

b People work.. They will earn money.

¢ You will make more money. You work regularly and rapidly
d You work together building that house.

You will finish the whole thing more rapidly.

e Men study the economic system of a country scientifically.
We call them economists.

7. Change these phrases in order to use the possessive apostrophe.

EXAMPLE
the work of the economist -> the economist's work
the work of the economists -> the economists' work

a the work of the farmer
b the work of the farmers
c the needs of the scientist
d the needs of the scientists
e the life of the man
f the lives of the men
[}
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g the toy of the child

h the toys of the children

j the education of the son of the farmer

j the education of the sons of the farmers
k the work of the farmers and fishermen

8. Make these sentences passive, as in the example.

EXAMPLE

Most people produce goods and services. =>
Goods and services are produced by most people.
a Some people provide both goods and services.
b Economists study the economic system.

¢ That man owns the house.

d They will provide shelter and clothes.

e Economic changes affect our lives.

fThey will maintain his car.

g The economists explained the economic system.
h They explained the methods.

i He told me how the British system works.

j Economists describe how capital is used in business.

9. Translate the following sentences from Ukrainian into English.

1. JKutra cycminbecTBa moTpedye 3aJ0BOIEHHS HOro MaTepialbHUX MOTped, TOOTO TOBApiB i<
TIOCTIYT.

+.2. EKoHOMIYHI pecypcH, - 11e_yci 3aCTOCOBYBaHi B IOCNOAPCBHKiH AisTILHOCTI NPUpPOAHI, \

JIIOZICBKI W BUPOOIICH] JIFOIMHOO PecypeH. ,
ToBap - 11e TPOAYKT Ipai, IPU3HAYCHHH VIS KYIIBIIi-IPONAXKYy.
2.4 MarepianbHi HOTpeOy 1ie MPOAYKTH XapdyBaHHs, O, B3yTTs, aBTOMOOLI, OyANHKH, i
T.JI.
3-5.HemaTtepianbHi noTpedu 3a0BOJIBHAIOTHCS 33 JOIIOMOTOI0 TOCIYT.
4.6.IToTpebu — e BiquyTTS HECTAa4i YOTrOCh, IO HEOOX1THE /IS YKUTTS JIFOAUHH.
5.7 .Ilotpebu mroneii pi3sHOMaHITHI 1 He MOXKYTh OYTH 3a/10BOJICHI TIOBHICTIO.
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UNIT 2

Economic Activity
Different Economic Systems

Most people work to earn a living, and produce goods and services. Goods are either
agricultural (like maize and milk) or manufactured (like cars and paper). Services are such
things as education, medicine and commerce. Some people provide goods; some provide
services. Other people provide both goods and services. For example, in the same garage a
man may buy a car or some service which helps him to maintain his car.

The work people do is called economic activity. All economic activities together make up
the economic system of a town, a city, a country or the world. Such an economic system is
the sum-total of what people do and what they want. The work people undertake either
provides what they need or provides the money with which they can buy essential
commodities. Of course, most people hope to earn enough money to buy commodities and
services which are non-essential but which provide some particular personal satisfaction, like
15 toys for children, visits to the cinema and books.

Not all economic systems are the same. The economic system of the USA differs greatly
from the system of Ukraine. The American system is based on private enterprise with
private ownership of the means of production. The Ukrainian economic system is based on
state ownership.

Britain is similar to the USA. It has an economic system based on private enterprise and
private supplies of capital, which can be defined as surplus income available for
investment in new business activities, Property in both the US and Britain can be owned
by individual citizens and these citizens exercise considerable economic freedom of choice.
They can choose what they want to do and how they want to earn their living, but are not of
course entirely free to do as they wish.

Exercises:

1. Here are some questions about the passage. Answer them.
a) Why do most people work?

b) What do they produce?

c) Where are goods produced?

d) What do schools, hospitals andshops provide?

e) What two different things can a man buy in, for example, a garage?
f) What do we call the work which people do?

g) What is an economic system the sum-total of?

h) What can people buy with money?

i) What two things can work provide for the worker?

j) What is the American economic system based on?

k) On what two things is the British system based on?

1) Who can own property in the United States and Britain?

2. Combine these pairs of sentences as in the example.
EXAMPLE

The services are useful. The workers provide the services. =>
The services which the workers provide are useful.

a) The goods are essential. They need the goods.
b) The schools and hospitals are essential. They provide the schools and hospitals.
c) The goods are valuable.He buys the goods.
d) The money buys essential commodities. People earn this money.
e) The goods and services are very useful. People produce these goods and services.
8«
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f) The work is called economic activity We do this work.

g) The work provides them with money. People do this work.
h) The economic activities make up the economic system.

i) People undertake these economic activities.

3.Change these sentences in the same way as the example. Both sentences refer to future
possibilities.

EXAMPLE

Perhaps he will come. => He may come.

a) Perhaps he will buy a car.

b) Perhaps we shall want some more fruit tomorrow.

c) Perhaps they will get the essential commaodities soon.

d) Perhaps the service will stop next month.
e) Perhaps the garage will not sell that car to him.

f) Perhaps the economic system belongs to a city, a whole country or the whole world.
g) Perhaps the car does not belong belong to those people

h) Perhaps he will buy some service which will help him to maintain his car.

i) Perhaps he will see the car when he comes tomorrow

j) Perhaps he will provide what they need when he comes back.

3. Combine these pairs of sentences as in the example, making them conditional and using
may.

EXAMPLE

(if) He comes tomorrow. Perhaps he will see you. => If he comes tomorrow, he may see
you.

a () The people work regularly and well.
Perhaps they will earn more money.
b () The man buys his car at that garage.

Perhaps the garage-owner will provide some extra services. « ( orepopmatuposaro: Otcryn: Cresa: 1,59 cm

¢ () We have aradio and toys for the children.
Perhaps life will be more enjoyable.
d () We buy these commodities today.
Perhaps we will be able to sell them tomorrow.
e () The farmers try to produce more.

Perhaps they will have some goods to sell as well as to use themselves. « ( ordopmatuposano: Ortcryn: Criesa: 1,9 cm

4. Say whether these statements are true (T) or false (F), and if they are false say why.
a Most people produce either goods or services.( )

b Services are either agricultural or manufactured. ( )

¢ Education and medicine are provided by schools and

hospitals. ( ) « [OTd)OpMaTMpOBaHO: Orcryn: CneBa: 1,59 cm

d Cars and paper arc agricultural goods. ( )

e Paper is a non-agricultural commaodity. ( )

f The work which people do is called an economic system.( )

g A city has its own economic system. ()

h Economic activity is the sum-total of what people do and want.( )

i The work people undertake provides them with money, or with  what they need. ( )

j Most people do not want to buy non-essential commaodities and services. () N (ordopmatnposario: Orcryn: Criesa: 1,59 cm

'S

k Because Britain has a system of private enterprise can say that its economy is similar

{OTQJODMBTMPOBaHO: Otcryn: Cnesa: 1,27 cm, BeicTyn:
to the American economy.( )

0,32 cm

| In the United States the means of production are privately owned. ( )

m Individual citizens in Britain and the United States have ~ complete economic freedom. ( (Orropmaruposano: Cripasa: 0,63 c
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n Capital is essentially surplus income used for new business activities. ( )
0 British citizens can choose what they want to do as long as they obey the law. (' )

5.In the sentences below replace which with that. When you have done this, re-write all the

sentences without either which or that. The meaning remains the same but the sentences

become less formal.

a The goods which they wanted were essential minerals.

b The schools and hospitals which they provide are essential.

¢ The goods which he buys are valuable.

d The money which the people earned bought many commaodities, “

e The goods and services which people produce are very useful..

f The work which we all do is called economic activity.

g The work which most people do provides them with money.

h The economic activities which people undertake make up the economic system of a town, <
city country or larger area.

i The economic system which people belong to is the sum- total of their needs and actions.

J The work which he undertook was useful but non-essential.

6. In these sentences, certain nouns are printed in italics. Change them into adjectives
which can be used in the blanks.

EXAMPLE

education => education + al => educational

commerce =>commerci +al => commercial

a These goods belong to the nation. They are therefore
b Minerals are a part of nature.They are therefore

¢ Schools provide education.They are therefore centres of activity.

d Shops are places of commerce. They are therefore centres of activity.

e He does not want anyone else to do this work. He wants to do the work in person It is
concern.

7. Most people work in order to earn their living, and they produce goods and services. The
things which people produce are called their products. So the diagram can be drawn as:

PRODUCTS
Goods Services

Below there are 20 kinds of people. Ten of them produce goods; ten produce services.
Make a diagram and list the people under goods and services.

cattle-breeder coal-miner musician teacher

banker doctor fruit-grower builder
shoemaker steel worker nurse iron- ore miner
horse-breeder shopkeeper cook pilot
fisherman electrician policeman farmer

8. Find single words in the text for which these words could be substituted:

a founded b possession € main
d countries e teachings f described
g extra h single i have and use

10+

OtdopmaTuposaHo: Otcryn: Cnesa: 1,27 cm, Beictyn:
0,32 cm

OtdopmaTupoBaHo: Otcryn: Cnesa: 1,27 cm, BeicTyn:
0,32 cm

[O'r(bopma'ruposauo: Cnpasa: 0,63 cm




j selection k pick | follow
m completely n physical power

9. In the text there are two adjectives of nationality: American and Ukrainian. Below is a
list of countries (nations). Study the example and then do the same for the listed words.
EXAMPLE

Britain: That man is British; he is a Briton.

Holland: That man is Dutch; he is a Dutchman.

India: That man is Indian; he is an Indian.

a Germany: That man is ;heisa
b Italy: That man is; he is an
¢ Spain:  That man is ;heisa

Do the same for the following:

AGI‘EE‘CE Brazil Sweden Portugal OTtcdopmaTupoBaHo: LLpudT: 12 nT, bpaHLy3ckuii
France  Malaysia  China Japan (Ppanuws)

Scotland  Canada Mexico Norway

Pakistan  Indonesia Iran Turkey

Egypt Ghana England Ireland

US.A. Zambia
10. Translate the following sentences from Ukrainian into English.

1. ToBap — 11e IPOAYKT Npalli, IPH3HAYCHAHN LTS KYIiBIi-IIPOTAXKY.

2. ExoHOMiYHa cHCTeMa — IIe CIOoci0 opraHi3amii HalliOHaTbHOI eKOHOMIKH.

3. TlpuOyToK —I1e pi3HUIII MK BUTOPIOM BiJ] IPOJaKy i BUTpaTaMH Ha BUPOOHUIITBO
HPOAYKTY.

4. VY OinbImocTi KpaiH iCHYIOTB Aep)KaBHA 1 IPUBATHA BIACHICT HA EKOHOMIUHI pecypcH Ta

BUPOOJICHI TOBApPH 1 TIOCITYTH.

bizHec — 11e eKOHOMIYHA JiSITBHICTH 3 METOIO OTPUMAaHHS MPUOYTKY

CBo0oza BOOpY 03HaYae, 110 BIACHUKU MaTepialbHUX PeCcypciB i rpouieil BUIbHI

BUOUpAaTH OyIb-SIKUI BUA AisUTEHOCTI.

7. BuacHicTb — Iie IpaBa OKPEMOI JIIOAWHHY , TPYIH JTI0Jel YU Jep>KaBU Ha BOJIOMIHHS Ta
BHUKOPHCTAHHSI KOHKPETHUX PECYpCiB, TOBapiB UM MOCIYT.

8. TuBecTyBaHHSI — i€ BKJIAJaHHS IPOIIeH Y BUPOOHHIITBO 3 METOIO OTPUMAHHS MPUOYTKY.

oo
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UNIT 3
The Limits of Economic Freedom

If a person can do what he wishes with his own property, time, and energy, then economists
say that he is ‘economically free'. In all communities, of course, limits are imposed upon the
personal freedom of their citizens and these limits are in some cases very complex but in
others relatively simple. All individuals are required to conform 5 to the laws made by their
governments.

Complete economic freedom of action can create great difficulties, because the freedoms
exercised by various individuals often conflict. If citizens were completely free, some
landowners might build factories in unsuitable places, while some factory-owners might
make their employees work too long each day. If they were completely free, workers might
stop working when they got their first pay, and come back only when they needed more
money. Such economic anarchy could cause instability (unemployment; loss of
production etc.) in the whole economy of a country.

Laws related to economic conditions are sometimes concerned with contracts between
employers and employees. Sometimes they are concerned with workers' health, wages and
pensions, and sometimes with the location of places of work. Sometimes they protect the
interests principally of the workers, while at other times they may be beneficial towards the
employers. The government policy towards both employees and employers will depend very
much upon the political and economic ideology adopted by the government, and may be
biassed towards employers and capital on the one hand, or workers and the problems of
labour on the other hand.

Exercises:

1. Answer these questions, basing your answers on the text.

a Under what conditions is a person economically free?

b What is the opposite of 'simple' ?

¢ What are all citizens required to do ?

d Why does complete economic freedom of action cause great difficulties?

e What three things might happen if citizens were completely free?

f What kind of economy might complete economic freedom create?

g What three workers' needs are sometimes the concern of the law?

h Between whom are contracts arranged?

i What else might the laws relate to, besides workers' needs and work contracts?
j What other important point should we note about laws related to economic conditions ?

2. Change the following sentences by inserting can

EXAMPLE
He does the work easily. => He can do the work easily.

a He earns a lot of money.

b They work very rapidly in that factory.

¢ The breeders sell a lot of horses and cattle.

d The miners provide coal at an economic price.

e A man with a good education usually earns quite a lot of money.
f People satisfy their needs only if they earn money.

g The citizens choose what they want to do.

h People use their time and money as they wish.

3. Exercise 2 has provided you with eight sentences using can. Change can to could in this (Orropmaruposano: Cripasa: 0,63 c
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way:

EXAMPLE
He can do the work easily.
=.> In those days he could do the work easily, but not now.

4.Combine some of the words in these sentences in order to make new compound nouns:

EXAMPLE
(a) He owns a house=> He is a house-owner,
(b) They breed pigs. => They are pig-breeders.

a He owns a car.
b That man owns some land.
¢ They breed horses.
d Some capitalists own factories.
e That man earns his wages.
f Those men mine for coal.
g Those women grow fruit.
h Mr Smith makes shoes,
i Mr Jones works with steel.
j Mr Brown packs meat in that factory.

5. Make these adjectives negative by adding the prefix un-.

EXAMPLE

stable => un + stable => unstable

a economic b economical ¢ satisfactory
d systematic e necessary f scientific

g enjoyable h available i suitable

j equal k productive I usual

m important n conditional o desirable

Use the appropriate adjectives in their negative forms in these sentences. The letters in
brackets at the refer to the list of adjectives above.

1. People do not like working in conditions (c).
2. Landowners may build factories in places (i).
3. The employers decided to close that factory because it was )
4. Complete economic freedom is an situation (0).
5. Compared with our need for food, clothes and shelter, some of our wants are quite
(m).
6. We say that goods are sold at prices, when the price is less than the cost of
producing them (a).
7. The goods which he wanted were at the price which he was willing to pay (h).

6. Say whether these statements are true (T) or false (F), and if they are false say why.

a () Economists say that a man is economically free if he can do what he wishes with his
own property, time and energy.
b () Governments usually require all individuals to conform to the laws which they make.
¢ () Complete economic freedom of action does not create many difficulties.
d () If citizens were completely free, some landowners and factory-owners might act in
unsatisfactory ways.

13+
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e () Complete economic freedom could lead to economic anarchy.

/() Anarchy is a satisfactory and desirable thing in any economic system.

g () Laws related to economic conditions are sometimes concerned with the health of the
employers.

h () These laws usually protect the interests of the workers and not the employers.

/() Government policy does not depend on the political and economic ideology of the
government.

j () Some ideologies are biassed towards labour and others towards capital.

7. Make each pair of sentences into a new conditional sentence, changing may to might,
and changing the tense:

EXAMPLE
(if) Citizens are completely free.
Factory-owners may make their employees work too long each day.

a (if) There is no system of control. Landowners may build new factories in unsuitable
places, .

b (') They are completely free. Workers may work only when they need money badly.

¢ ( ) They have all the money they need. They may not work,

d () The government want to improve the general conditions of work. They may make new
laws

e () Employees anticipate new and better working conditions. They may increase their
productivity

/() You regularly provide essential services. You may get more business.

g () They undertake to replace the old school with a new one. We may provide some of the
money

8. Punctuate the following passage. Provide capital letters, commas, full stops, brackets,
colons etc., where applicable.

britain and the USA have similar economic systems both being based on private enterprise
property and capital the russians however do not have such a system they follow a
communistic system based on the work of the nineteenth century economist marx his system
is non capitalistic and does not permit private individuals to own property in a completely
communist society we can say that the two types of economy contrast very strongly this is a
simple and brief statement of a complex subject the differences between the russian and the
anglo american systems.

9. Find words in the text for which these words could be substituted.

a societies b cause

c enjoyed d frequently

e unsatisfactory f I awlessness

g written agreements h regular pay in old age
i mainly) jinclined

10. Make these words negative by adding the prefix in-.
EXAMPLE stability => in + stability => instability

a active b activity C secure d security
e organic sufficieng g definite h adequate
i distinct j complete k solven | expert
m frequent n conclusive o dependent

Use the appropriate words in their negative forms in these sentences. The letters in
14+
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brackets at the end refer to the list of adjectives above

Metals are substances (e).

Most nations like to be economically (0).

The services which they provided were quite ).

If an economy becomes unstable, people begin to feel (©).

The men were rather at the kind of work which they had been asked to do (7).

11. Decide which suffix is nepessary to change these words from activities etc. to the people
who engage in them.

EXAMPLE (a) banking => banker
(b)economics => economist

(c) politics => politician
teaching working labouring
statistics mathematics driving
electric (repairs) music technical (work)
mining farming cheistry
ecology science agronomy

12. Below are two lists. Pair off each word in the first list with its opposite in the second

list.

theoretical local
private maximum
individual selling
mineral complex
simple organic
buying collective
minimum public
national practical

13. Make these words negative by adding the prefix in- and altering it to suit the
consonant which follows.

EXAMPLE (a) legal =>in + legal => illegal
(b)probable =>in + probable => improbable
(c)regular =>in + regular => irregular

a practical b possible c responsible
d mobile e proper f rational
g legible h logical i personal j relevant

14. Combine these groups of three sentences using would and should. The table shows the
relationships between will: would and shall: should in sentences of this type.

direct indirect
statement statement
simple will -> would
future
obligation shall -> should

[O'rd)opma'ruposauo: Cnpasa: 0,63 cm




EXAMPLE

These goods and services will be produced. These prices shall be charged. The central
authority decided these things. =>The central authority decided what goods and services
would be produced, and what prices should be charged.

a These prices will be charged for the commaodity.
This quantity shall be made available.
The planners discussed these things.
b This quality will be most suitable.
This quantity shall be produced.
The government considered these things.
¢ These conditions will affect international economic system in the next ten years.
These plans shall be adopted
The economists could not agree on these things.
d These changes will be made next year.
These crops shall be grown.
The farmers decided these things
e These changes will be made. in the factory.
These wages shall be paid to the workers for the next two years.
The employers did not discuss these things.

15. The table shows how words are formed around the verb produce. List all the words
you can make from the table and use them in suitable blanks in the sentences.

er

A A A

produc

P+

Ve ity

jon

a The company
b The company's newest

anew commodity every year.
is a special blue soap powder.

c The of soap powders met last year to discuss prices.
d That factory is not as now as it was five years ago.
e The of that factory has gone down over the last five years.

f The manager of the factory has decided that they must increase their
of soap powder.

of packets <

16. This table shows how certain nouns can be formed from certain adjectives, as for
example activity from active. Make a list of the nouns and put each word in its suitable
place in the sentences. Note the loss of the letter e in active, secure, mobile and productive.

A

active
equal
complex
mobile
liquid _ ity
productiv
e rapid
regular
similar
ceclirp
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a The system was complex. Its surprised him.

b The movements of the products in the factory was rapid. The of the work suprised
him.

¢ People who have cars are very mobile. This is a useful thing.

d The National Bank has a solid reputation. Its money is similar to the of
its buildings.

e The national economy, like a man, should be active. Its is a sign of its health.

f Your money is secure in the National Bank. Its is important both to you and to
the bankers.

g The workers in those factories are very productive This is very useful to the
national economy.

h Those men arrive regularly at nine o'clock. Their is well-known.

/ The American and British economic systems are very similar. This is not
surprising.

j Those two men earn equal sums of money. They have in wages because they
produce the same quantity and quality of goods.

k The exchange of money should be as liquid as possible. The of money helps the

economy to grow.
17. Translate the following sentences from Ukrainian into English.

1. OCHOBHHMM BHJOM JIOXOAY € 3ap0o0iTHA IaTa.

2. Cymy rpomeid, ssKy OTpUMY€ MpaIliBHUK 32 CBOIO pOOOTY, HA3MBAIOTH 3apO0iTHOIO
UIATOIO.

3. bBe3poOiTTs BUHHUKAE TOMi, KOJH MPALiBHUKH HE MOXKYTh 3HAHTH poOOTY.

4. ExoHOMiuHI 30MTKHU — I1¢ BTpaTH MaTepiadbHUX 1 piHAaHCOBUX pecypciB.

5. KontpakT — 11e yroga npo B3acMHi 3000B s13aHHS JUIsi 000X CTOPIiH

17«
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UNIT 4

Mixed Economies
No state today is completely communistic; no state is completely capitalistic.

The various national economic systems tend towards communism or capitalism, and many
are difficult to classify exactly.

It has been found necessary in many countries, even in such dedicated strongholds of free
enterprise as the USA, to control or regulate national economic conditions. The under-
developed countries of the world are inevitably interested in control and long-term plans
guided by the government. India has had a number of plans guided by the government. India
makes a clear distinction between the public sector and the private sector of its economy.
Systems of this type are sometimes called mixed economies.

Britain nowadays has a mixed economy. In the public sector of British economic life are the
nationalized industries like coal and steel, British Rail and BOAC. In the private sector are
the majority of the nation's industries, both large and small, from giants like ICI and BP to
small family businesses.

In 1962 the government set up an official planning body to guide national economic
policies. This body is known as the National Economic Development Council. The
members of the NEDC are 20 representatives of the employers' federations, and the Trades
Union Congress, together with members of the government, eminent industrialists and
leading economists.

The main function of the NEDC is planning national production and setting up production
targets. It is however a very difficult matter to plan ahead in a mixed economy. It is not
possible to plan ahead with any certainty even in a rigidly controlled economy, because
natural disasters, political changes and other factors can affect the general plan in unexpected
ways.

1 BO AC: British Overseas Airways Corporation
2ICI: Imperial Chemical Industries
3 BP: British Petroleum

Exercises:

1 Answer these questions. You may answer either YES or NO. Give your reasons. Quote
from the text in support of your answer.

a Are there any completely communistic states ?
b Are there any completely capitalistic states?
¢ Do the various national economies tend towards one or
_other ideology? “«
d Are the various economic systems difficult to classify?
€ Have most countries found economic control necessary?
f Has the US felt the same need?
g Are the under-developed countries interested in control
_and planning? N
h Has India had a number of national economic plans ?
i Is the Indian economy based entirely on private enterprise?
j Does the Indian economy have two distinct sectors ?
k Is the Indian system a mixed economy?
| Is BOAC a nationalized British industry?
M ICI a nationalized British industry?
N Was the NEDC set up by the British government ?
o Are both employers and employees represented on the NEDC?
18+
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2. Answer these questions, basing your answers on the text.

a Why is it difficult to classify many national economic systems ?
b What are the under-developed countries interested in?

£ What is the Indian system sometimes called?

d In which sector are the majority of British industries ?

e What did the British government set up in 1962?

3 Invert these sentences by linking the following information:

EXAMPLE

In the private sector are the majority of the nation's industries.

These industries play a vital part in maintaining the life of the nation.

=> In the private sector are the majority of the nation's industries, which play a vital part in
maintaining the life of the nation.

a The nationalized industries are in the public sector of British economic life.

b Goods like coal and iron are among the most important commodities in any economy.
commodities in any economy.c Essential services like transport and education are in the«
public_sector of many socialist economies.

sector of many socialist economies.

d Food production and distri- bution are in the private sector_of the national economy. -

of the national economy.

eThe coal and steel industries are among the activities controlled_by the government. «
by the government. .
1) These industries include various types of transport, «

steel-production and coal-mining.
steel-production and coal-mining.
2) Coal and iron are vital minerals in any nation's list of resources.
resources.
3) Transport and education employ a large part of the national work-force,
4) Food production and distribution are perhaps the most basic activities in any economy,
5) These industries are generally classified as heavy industries,

4. Change these sentences by changing certain adjectives into verbs.
The new verbs are listed, but not in the proper order. Note that all these verbs are concerned
with making something happen, or causing something to happen.

EXAMPLE They made the economy regular => They regulated the economy
complicate; consolidate; liquidate; simplify; nationalize; internationalize; activate; re-
activate.

a They made the subject complex

b They made the subject simple.

¢ They made the businesses 'solid' (by bringing them together).

d They made the business 'liquid'(by breaking it up or 'dissolving' it).
e They made the economy active.

fThey made the economy active again (or for a second time).

g They made the industry national(or public).
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h They made the business international.

5. Say whether these statements are true (T) or false (F), and if they are false say why.

a () Our country is completely communistic.

b () The USA is not completely capitalistic.

¢ () The many economic systems in the world are not difficult to classify.

d () Even the United States finds it necessary to control national economic conditions to a
certain extent.

e () The interest of the under-developed countries in longterm planning is inevitable.

/ () India makes a clear distinction between the two sectors of its typically mixed economy,
g () The nationalized industries in Britain are inevitably in the private sector of the
economy,

h () Giants like ICI and BP are not publicly owned,

i () The British government controls the economy very strictly through the NEDC.

J () Planning ahead in a mixed economy is not particularly difficult.

6. Combine these pairs of'sentences in the two ways shown in the example.

EXAMPLE The government has set up an official committee. This committee must decide
national economic policy,

i => The government has set up an official committee which must decide national economic
policy,

ii => The government has set up an official committee to decide national economic policy.

a The economists have organized commission.

_ This commission must study the economic problems of Latin America. .,
America.

b The workers have demanded an investigation.

_ This investigation must find out_ what happened in the factory.
¢ The trade unions have asked for a new plan.

_ This plan must regulate the flow of work.

d The government has proposed a new scheme.

_ This scheme must come into operation next year.

e The employers have prepared a special scheme.

_ This scheme must be approved by the government.

7 Arrange the following sentences in their proper order, to produce a paragraph about the
National Economic Development Council.

A It meets regularly, under the chairmanship of the Prime Minister.

B Each committee is concerned with an individual industry and is composed of members «
from management, the trade unions, government committees and three independent
members.

C The NEDC, which was set up in 962, brings together representatives of government,
management and the trade-unions, and provides a meeting place for the discussion of
future policy and planning.

D The EDCs study measures to improve efficiency and competitive power in each industry,

E Other members are the ministers of the main economic departments of the government,
representatives of management and trade unions and the nationalized industries,
independent members and other interested people,

F The NEDC has set up twenty one Economic Development Committees,
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8 In each of these sentences a word is missing. Provide a word from the text

a The Americans are to a system of private enterprise.

b To control an economy is much the same as to it.

¢ The work was carefully by the authorities for five years.

d It is necessary to make a sharp between planned and unplanned economies
e A mixed economy possesses some of the qualities of the two main of economic
system.

f He does not work in this of the economy but in the public one.

g Coal, steel and farming are very important national .

h The of the workers. were happy about the new plan, but a small number were
not.

/ Some industrial , like BP and ICI, are international as well as national in their
activities.

9 Study the table. It shows how words can be formed by adding first the suffix -ify, and
then the suffix -cation (with suitable changes in spelling).

EXAMPLE simple => simplify => simplification
Use the table and the example to help you fill in the blanks in the sentences.

simple

note .

class ify
clear (= A
plar ification

NOTE Remember to remove the ‘€' in simple, note and pure

a This plan is not simple enough. We must therefore it.
The of the plan is essential. “«

b The economy of that country belongs in the capitalist group or class. We must therefore <

itas__capitalistic. The of the economy of that country is not difficult.

¢ That water is not pure enough. It. Is necessary therefore to it. The of

the water is a matter of public health.

d Please send a note to the members of the Council. You should them of the date of <
the next Council meeting. The should reach them this week.

e The economics teacher tried to make the situation dear. He tried to his «
description by making it simpler.

When he had made this, his students understood the whole matter much better

10. Make acronyms or letter-names from the groups of names listed below.

EXAMPLE

a) The United States of America => The USA

(b) British Petroleum => BP

NOTE Keep the definite article 'the' where this is customary.

a The Organization of African Unity.
b The United Kingdom (of Great Britain and Northern Ireland).
¢ North Atlantic Treaty Organization.
d The European Economic Community.
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e Association of South East Asian Nations.
f United Nations Organization.

g World Health Organization.

h The International Labour Organization.

/ The International Monetary Fund

j The Food and Agricultural Organization.
k Trans World Airlines.

/ British European Airways

m General Agreement on Tariffs and Trade

11. Seven words can be formed from the basic word nation. This table shows how to do it.
Make a list of the words, and put each word in its suitable place in the sentences. You will
also need the word nation itself.

OTcpopMmaTnpoBaHo: LLpudT: 12 NT, He pa3pexeHHblit Ha /

YNIOTHEHHbIN Ha

e LEfiy OtcdopmaTupoBaHo: LLpudT: (No ymonyauuio) Times New

Roman, 12 nT, He pa3pexeHHbIi Ha / YNIOTHEHHbIN Ha

A J OtdopmaTupoBaHo: LLpudT: (No ymonuauuio) Times New
Roman, 12 nT

al iz ation

OtcdopmaTupoBaHo: LLpudT: (No ymonyauuio) Times New
Roman, 12 nt

nation

OTtcdopmaTupoBaHo: LLpudT: (no ymonyanuio) Times New
Roman, 12 nt

Roman, 12 nt

Roman, 12 nT

a The USA is the homeland of the American, .

b Most countries have banks, such as the Bank of ~ England.

¢ The Socialist Party has plans To various privately owned industries.

d British Rail is already a industry, because it is publicly owned.

e The name given to the change from private to public ownership is

f In the last twenty years  has been a strong political force, leading to the
formation of many new nations.

g A person who is interested in the progress and history of his own country may be called a

OtcdopmaTupoBaHo: LLpudT: (No ymonuauuio) Times New
Roman, 12 nT

OtcdopmaTupoBaHo: LLpudT: (No ymonuauuio) Times New
Roman, 12 nT

OtcdopmaTupoBaHo: LLpudT: (No ymonuauuio) Times New
Roman, 12 nt

OTtdopmaTupoBaHo: LLpudT: (no ymonuanuio) Times New
Roman, 12 nt

OtcdopmaTuposaHo: LLpudT: (no ymonuanuio) Times New
Roman, 12 nT

)

|

)

}

il
OtchopmaTnposamo: LUpHPT: (Mo ymonuanwio) Times New }
)

|

|

)

)

}

{

|

{

{

|

| |
{Onbopma'ruponaﬂo: WpwdbT: (Mo yMonuianmio) Times New
|

|

{

{

[

h Many governments have certain policies which are not inter-national but simply

12. Translate the following sentences from Ukrainian into English.

OTcpopMmaTnpoBaHo: LLpudT: 12 NT, He NOMYXUPHbIN

1. 3wmimana eKOHOMIKa IPYHTYEThCS HA PUHKOBIH opraHizamii Ta JjepKaBHOMY peryJIIOBaHHI
MaKpPOEKOHOMIYHHX TPOILIECIB.

2. B bararpox kpaiHax NpPHBAaTHUI CEKTOP CKOHOMIKU OUIBIIN, HIXK ICPIKaBHHUM,

3. HamionanpHa paja 3 nutadb eKoHoMiuHOro po3sutky (HPEP) 3aliMacThbesl IIaHyBaHHIM
BUPOOHMIITBA.

4. Cnabopo3BUHEHI KpaiHM MalOTh JOBIOCTPOKOBI IUIAHU PO3BUTKY, SIKI KOHTPOIIOE YPSIIL., <

(
[Ord)opma'mposauo: WpundT: 12 NT, HE NONYXUPHBINA
[
(
(
(
bararto HalioHAJLHUX CKOHOMIYHHX CUCTEM Ba)KKO KJIACU(IKYBaTH, [mopmar: Crmcok
(
(
(
f
(

OtdopmaTuposaHo: LWpudT: 12 nT

OTtcdopmaTupoBaHo: LLpudT: 12 nT, HE NONYXUPHLIN

OTcopmaTnpoBaHo: LLpudT: 12 T, ykpamHckuit

OTtcopmaTnpoBaHo: LLipudT: 12 NT, He NOMYXUPHBIN

o

o

HaBiTh y cTporo KOHTPOJILOBAHIM EKOHOMIYHINM CUCTEMI HEMOKIMBO TOYHO CILIAHYBATH
HaIepea PO3BUTOK EKOHOMIKH,

OTtcopmaTupoBaHo: LLipudT: 12 N7, He NOMYXUPHBIN

OTcdopMmaTupoBaHo: LLpudT: 12 NT, He NONYXUPHLIN

OTtcopmaTnpoBaHo: LLpudT: 12 NT, He NOMYXUPHbIN

OTtcdopmaTupoBaHo: LLpudT: 12 nT, HE NONYXUPHBIN

OTcdopMmaTnpoBaHo: LLpudT: 12 NT, He NONYXMPHLIN,
YKpauHCKuii

OtdopmaTupoBaHo: Crpasa: 0,63 cm
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UNIT 5
Utility and Prices

Our basic needs are simple, but our additional individual wants are often very complex.
Commodities of different kinds satisfy our wants in different ways. A banana, a bottle of
medicine and a textbook satisfy very different wants. The banana cannot satisfy the same
wants as the textbook..

This characteristic of satisfying a want is known in economics as its 'utility’. Utility,
however, should not be confused with usefulness. For example, a submarine may or may not
be useful in time of peace, but it satisfies a want. Many nations want submarines. Economists
say that utility determines 'the relationship between a consumer and a commodity'.

Utility varies between different people and between different nations. A vegetarian does not
want meat, but may rate the utility of bananas very highly, while a meat-eater may prefer
steak. A mountain-republic like Switzerland has little interest in submarines, while maritime
nations rate them highly.

Utility varies not only in relation to individual tastes and to geography, but also in relation to
time. In wartime, the utility of bombs is high, and the utility of pianos is low. Utility is
therefore related to our decisions about priorities in production—particularly in a centrally-
planned economy. The production of pianos falls sharply in wartime.

The utility of a commaodity is also related to the quantity which is .available to the consumer.
If paper is freely available, people will not be so interested in buying too much of it. If there
is an excess of paper, the relative demand for paper will go down. We can say that the utility
of a commodity therefore decreases as the consumer’s stock of that commaodity increases.

In most economic systems, the prices of the majority of goods and services do not change
over short periods of time. In some systems it is of course possible for an individual to
bargain over prices, because they are not fixed in advance. In general terms, however, the
individual cannot change the prices of the commodities he wants. When planning his
expenditure, he must therefore accept these fixed prices. He must also pay this same fixed
price no matter how many units he buys. A consumer will go on buying bananas for as long
as he continues to be satisfied. If he buys more, he shows that his satisfaction is still greater
than his dislike of losing money. With each successive purchase, however, his satisfaction
compensates less for the loss of money. A point in time comes when the financial sacrifice
is greater than the satisfaction of eating bananas. The consumer will therefore stop buying
bananas at the current price. The bananas are unchanged; they are no better or worse than
before. Their marginal utility to the consumer has, however, changed. If the price had been
higher, he might have bought fewer bananas; if the price had been lower, he might have
bought morel.

It is clear from this argument that the nature of a commodity remains the same, but its utility
changes. This change indicates that a special relationship exists between goods and services
on the one hand, and a consumer and his money on the other hand. The consumer's desire for
a commodity tends to diminish as he buys more units of that commodity. Economists call
this tendency the Law of Diminishing Marginal Utility.

Exercises:

1. Answer these questions, basing your answers on the text.

a What is the difference between our basic needs and our additional wants?
b What two ways are there of describing ‘utility’ ?

¢ What example is used to show that utility varies from person to person?
d What example is used to show that it varies from nation to nation?

e What example is used to show that it varies from time to time ? (Orropmaruposano: Cripasa: 0,63 c
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f What example is used to show that utility is related to quantity ?

g What can we say about the way in which utility decreases?

h Prices are fixed in most economic systems, but what is possible in some systems?
i What is the individual generally unable to change?

j Under what conditions will a consumer go on buying a commodity?

k What does the consumer show by buying more bananas?

| What happens with each successive purchase?

m At what point will the consumer stop buying the commaodity at the current price?
n What remains unchanged with each purchase?

0 What has changed when this point is reached?

p Under what conditions might he have bought more?

g What does a consumer's desire tend to do ? -

2. Say whether these statements are true (T) or false (F), and if they are false say why.

a () Our basic needs are complex.

b () Our wants are satisfied in much the same way by all commodities.

¢ () Usefulness should not be confused with utility.

d () Vegetarians rate the utility of meat very highly

e () The Swiss nation is not particularly interested in submarines.

f () In wartime the utility of pianos is high.

g () Ina centrally-planned economy, decisions about priorities are related to utility.

h () The demand for paper goes down if the quantity of paper increases.

i () Inthe majority of systems prices are fixed but in the minority it is possible to bargain.

j () Itis generally possible for the individual to change the prices of the commodities he

wants

k () We know that a consumer's satisfaction is greater than his financial sacrifice if he goes <
on buying a commodity at the current price.

I () When a consumer becomes dissatisfied at paying the current price, he pays less.

m( ) The financial sacrifice becomes too great when the quality of the commaodity gets

worse.

n () The consumer will probably buy more if the price falls.

o () The utility of a product stays the same, but its nature changes.

p () If the price rises, the consumer will probably buy less.

g ( ) If the price remains the same, the consumer will reach a point when his sacrifice is <
greater than his satisfaction.

r () 'The Law of Diminishing Marginal Utility' is the name which economists give to the

tendency for a consumer's desire to diminish as he buys more units.

3 Contrast these pairs of sentences, using ‘while’.

EXAMPLE Switzerland has little interest in submarines. Maritime nations rate them highly.
i. => Switzerland has little interest in submarines, while maritime nations rate them highly. <
ii. => Switzerland on the one hand has little interest in submarines, while maritime nations

on the other (hand) rate them highly.

a In peacetime bombs are not in very great demand. j
In wartime their utility is very high. /
b Bananas may satisfy one kind of want. -
Textbooks satisfy satisfy an entirely different need. /
C Meat-eaters may enjoy both beef and bananas.
Vegetarians value value only the bananas, |
d A product's utility may be very high in a certain part of the world, «
._Inadifferent part of the world, its utility may be very low.
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£.Some people may prefer to save their money and invest it in a secure and profitable

OtcdopmaTupoBaHo: LLpudT: 12 nT, He KypcuB

scheme.,,
, Some may prefer to buy a particular commodity which they have wanted for a long time., -

4. Find single words in the text for which these words could be substituted.
a extra

b quality

c likes and dislikes

d preferences

e rapidly

f amount

g goes down

h to buy for a low cost

j the range of goods available to buy

k to substitute by money or other goods

5. Make these sentences passive, omitting the agent phrase.
a The government fixes the prices.

b They fix the prices in advance.

¢ He must pay the current price.

d The commodity satisfies the  consumer.

e The government has changed the policy.

k They have produced additional supplies for the men.

g They have obtained various valuable minerals in that area.

h Economists have classified the various economic systems.

i The committee prepared a special scheme.

6. Change these sentences as in the example. The meaning does not change.
EXAMPLE When he plans his expenditure, a consumer must accept

fixed prices.

=> When planning his expenditure, a consumer must accept fixed prices.'

a When it prepares a new product, a company must spend a large amount of money..

b When it decides production targets for a period of years, government must establish its
priorities very clearly

¢ When it makes a decision over the number of employees which will be needed, the
management of a factory must consider erything very carefully.

d When it tries to increase efficiency in production, a planning body should decide
factors are most important.

e When they consider problems of distribution, businessmen should investigate all the
methods currently in use and decide objectively whether they can be improved.

what

7. Translate the following sentences from Ukrainian into English.

-«

=1. I1iHa, - KiIbKIiCTB IpOLIEH, SKi CIUIAYyIOTh 33 OJMHMIIIO TOBAPY; BUPaKEHA B IPoLIax
BapTICTh OIMHHUIII TOBapYy.

2. I'paHnWyHA KOPUCHICTB- 1€ JIOJATKOBA KOPUCHICTD, SIKY OTPUMYE CHOKUBAY 13 JIOAATKOBOI
OJIMHHIL TOBAPY UM MOCIYIH.

+3. IliHHi nanepy, - JOKYMEHTH, 110 3aCBiI4yIOTh IPABO BIACHOCTI Ha OyIb-sike MaliHO abo
rpouri (akuii, o0uirarii, 4eku, BeKcei, CepTU(IKAaTH Ta iHII JTOKyMEHTH).

4. KopHCHICTE — 1€ 3AaTHICTL TOBAPY a00 IMOCIYIH 3a0BOJILHSITH II€BHI NOTPEOU JIFOIUHMU.

1.5.11iHy, 1110 BCTAHOBIIOETHLCS HA PUHKY 1111 BILIMBOM B3a€MOJIi1 ITOMUTY 1 IPOHO3HULLT,
Ha3MBAIOTh PUHKOBOIO LIHOIO.

OtcdopmaTuposaHo: LLpudT:
100%

12 nT, MacwTab 3HaKoB:

OTtcdopmaTupoBaHo: LLpudT:
(CoeanHeHHoe KoponeBscTBo)

12 nT, aHrmickuin

OtcdopmaTuposaHo: LLpudT:
100%

12 nT, MacwTab 3HaKoB:

OtcdopmaTupoBaHo: LLpudT:
YepHblit, aHrnuiickuii (CLLIA)

12 nT, Uget wpudrTa:

OTtcdopmaTupoBaHo: LLpudT: 12 nT, aHrnuiickuin (CLLA)

OTcdopmaTupoBaHo: YposeHb 1, Mo3.Tabynsiummn: HeT B
6,03 cM

OtcdopmaTupoBaHo: LWpudT: 12 nT, LiBeT wpudrTa:
YepHbii, aHrnuiickuii (CLLIA)

(
|
{
|
|
(
{
[

OtcdopmaTupoBaHo: LLpudT: (No ymonuauuio) Times New
Roman, 12 nT, He nonyxwupHbii, LiBeT wpudTa: ABTO

| |
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OtcdopmaTupoBaHo: LLpudT: (No ymonuauuio) Times New
Roman, 12 nT, UgeT wpudTa: ABTO

OtcdopmaTupoBaHo: LLpudT: (No ymonyauuio) Times New
Roman, 12 nT, He nonyxwupHbIi, LiBeT wpudTa: ABTO

OTtdopmaTupoBaHo: LLpudT: (no ymonyanuio) Times New
Roman, 12 n7, LiBeT wpudTa: ABTO

OTtcdopmaTupoBaHo: LLpudT: 12 nT, pycckuit

OtdopmaTupoBaHo: Crpasa: 0,63 cm
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UNIT 6

Supply and Demand

Bananas are a typical example of perishable goods. By 'perishable’ we mean goods which

cannot be stored for any length of time without going bad. Most foodstuffs are in the

perishable category. Such goods are offered for sale as quickly as possible, and so the supply

of perishables and the stock of perishables available at any time are usually the same in

quantity.

This is not true in the case of non-perishable goods like coal, steel and cars, which do not«
deteriorate easily. The supply of cars on the market may not be the same as the actual stock

of cars in the factories. Economists talk about the Law of Supply, in which a rise in prices

tends to increase supply, while a fall in prices tends to reduce it. If prices rise for a particular

commodity, the rise will of course encourage producers to make more. On the other hand, if

prices fall either locally or throughout the world, producers will reduce production. This can

result in serious difficulties for many producers, and may cause them to go out of business

completely. Over-production of any commodity can also create difficulties, because it can

lead to a glut on the market, which may cause prices to fall sharply. Supplies of many

commodities can generally be adjusted to suit market conditions. This means that changes in

prices lead to changes in the quantity of a particular commodity which is made available to

consumers. Household goods and furniture belong to this category. In such instances supply

is said to be ‘elastic', because it can be increased or decreased rapidly in response to market

prices.

Elasticity of supply, as a response to changes in price, is related to demand. Economists

define 'demand' as a consumer's desire or want, together with his willingness to pay for what

he wants. We can say that demand is indicated by our willingness to offer money for

particular goods or services. Money has no value in itself, but serves as a means of exchange

between commaodities which do have a value to us.

People very seldom have everything they want. Usually we have to decide carefully how we <
spend our income. When we exercise our choice, we do so according to our personal scale of

preferences. In this scale of preferences essential commodities come first (food, clothing,

shelter, medical expenses etc.), then the kind of Juxuries which help us to be comfortable

(telephone, special furniture, insurance etc.), and finally those non-essentials which give us

personal pleasure (holidays, parties, visits to theatres or concerts, chocolates

etc.). They may all seem important, but their true importance can be_measured by deciding«
which we are prepared to live without. Our

decisions indicate our scale of preferences and therefore our priorities. , “
Elasticity of demand is a measure of the change in the quantity of

20 a good, in response to demand. The change in demand results from a change in price.

Demand is jnelastic when a good is regarded as a pbasic necessity, but particularly elastic for

non-essential commodities. Accordingly, we buy basic necessities even if the prices rise
steeply, but we buy other things only when they are relatively cheap.

A
Exercises:

1 Answer these questions, basingyour answers on the text.

aWhat are perishableigoods? producers?
b What two things are usually the_same in guantity? g What can over-production lead
same in quantity? to?
¢ What happens when the Law of Supply operates? h What happens when the supply
Supply operates? of a commodity is adjusted to
d What does a rise in prices_encourage ?suit market conditions?
26+

[O'rqaopma'mpoaaﬂo: WpndT: 12 NT, HE NOMYXKMPHBI

)

[O'rd)opma'ruposauo: Mo wupuHe

OTcdopmaTupoBaHo: Mo WrpnHe

OTcopMmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHBIA, He
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

OTdpopMmaTupoBaHo: LLpudT: 12 NT, NONYXUPHBIA, He
paspexeHHbIi Ha / YNIOTHEHHBIN Ha

OTcdopmaTupoBaHo: Mo wrpuHe, Mo3.Tabynsumm: 5,08 cm,
no nesomy kpato + HeT B 1,27 cM + 7,94 cm

OTcdopmaTupoBaHo: Mo WwnpnHe

OTtcdopmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHbIX, He
Pa3pEexeHHbIN Ha / YNIIOTHEHHDBIN Ha

OTtcopmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHBIA, He
paspexeHHBbIN Ha / YNIOTHEHHBI Ha

OTcpopMmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHBIA, He
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

OT1cdopMaTupoBaHo: LLpudT: 12 NT, yKpauHCKUi, He

[O'rqaopma'mpoaaﬂo: LWpndT: 12 NT, NONYXKMPHBIN
{paspe)l(eHHbll;t Ha / YNNOTHEHHBIN Ha
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OTcdopmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHbBIW, KypcvB
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encourage ? / What kinds of goods belong to

e What does a fall in prices_cause ?the category of commodities that
cause ? can be adjusted easily ?

/f What serious effect may a fall_in prices have on some producers?

g What can over-production lead to?
h What happens when the supply of a commodity is adjusted to suit market conditions?
i What kinds of goods belong to the category of commodities that can be adjusted easily ?

j What is meant by ‘elastic' supply?

k What is elasticity of supply a response to?

| What comes second in our scale of preferences ?
m What is the definition of 'demand'?

n What is our third priority?

0 How is demand indicated?

p What is elasticity of demand?

g What is money?

r When is demand inelastic?

s What do we do when we exercise choice ?in prices have on some supply?

2 Say whether these statements are true (T) or false (F), and say why.

OtdopmaTuposaHo: LLpudT: 12 nT, KypcuB, He
paspexeHHBbIN Ha / YNIOTHEHHBI Ha

OtcdopmaTupoBaHo: LLpudT: 12 nT, Kypcus, He
Pa3pexeHHbIN Ha / YNIOTHEHHbIN Ha

O'rd)opmaruposano WpundT: 12 NT, KypcuB, He
Pa3pexeHHbIN Ha / YNIOTHEHHbIN Ha

O'rqaopmaruposano WpndT: 12 N1, Kypcus, He
paspexeHHBbI Ha / YNNOTHEHHbIA Ha

AaA( ) Bananas are typical of goods that easily deteriorate.

e () If prices fall locally,
goods that easily deteriorate. production will be reduced
b (',) Steel can be stored for a_long time without losing its value.

throughout the world.
long time without losing its/( ) When there is a glut on the
value. market, demand decreases and
¢ () The actual stock of cars in_a factory is usually the same as the supply of cars available
on the market prices fall.
a factory is usually the same asg () Changes in prices lead to a
the supply of cars available onchange in the quality of a
+ the market. commodity.
d () According to the Law of Supply, a rise in prices tends to reduce supply.

/| OTdhopmaTupoBaHo: LpudT: 12 nT, Kypcus, He

e () If prices fall locally, production will be reduced throughout the world.

f () When there is a glut on the market, demand decreases and prices fall.

He paspe»(eHHbM Ha / YNIOTHEHHBIN Ha

OTcdopmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHBIW, KypcvB

O'rd)opma'mposano WpundT: 12 NT, KypcuB, He
Pa3pexeHHbIN Ha / YNIOTHEHHbIN Ha

OTtcdopmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHBIA, He
Pa3peXxxeHHbI Ha / YNIOTHEHHDbIV Ha

{ }
| |
{c.v pMaTHp : LLpMGT: 12 1T, MOAYXKUPHBIF, KypCUB, }
( )
{ }
{ }

OtcdopmaTupoBaHo: LLpudT: 12 NT, KypcuB, He
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

paspeXeHHbIi Ha / YNNOTHEHHBIN Ha

OTtcdopmaTupoBaHo: LLpudT: 12 nT, Kypcus, He
Pa3pEexeHHbIN Ha / YNIOTHEHHDBIN Ha

g ( ) Changes in prices lead to a change in the quality of acommodity.

h (") Supply is 'elastic’ because

Supply, a rise in prices tends tomarket prices rise and fall.
i (_) When people offer money for particular goods, they indicate that a demand exists.

~| OTdpopmaTuposaHo: LLpudT: 12 N1, Kypcus, He

i (_) Money is usually valuable in itself.

~| OTdpopmaTupoBaHo: LLpndT: 12 nT, Kypcus, He

k (_) People do not usually have everything they want.
| (_) Basic needs come before luxuries.

m () Our decisions on how to use our money show what we need most and what we are

willing to do without.
n () Demand for essential commodities is always elastic.

OtcdopmaTupoBaHo: LLpudT: 12 T, Kypcus, He
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

Pa3pEexeHHbIN Ha / YNIIOTHEHHDBIN Ha

paspeXeHHbIi Ha / YNMOTHEHHBIN Ha

OtdopmaTupoBaHo: LWpudT: 12 nT, Kypcms

Pa3pEXeHHbIN Ha / YNNIOTHEHHbIA Ha

OtcdopmaTupoBaHo: LLpudT: 12 nT, KypcuB, He
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

3. Punctuate the following passage. Provide capital letters, commas, full stops, brackets,

colons etc., where applicable,

'| OTdhopmaTupoBaHo: LpudT: 12 NT, Kypcus, He

OtcdopmaTuposaHo: LLpudT: 12 nT, Kypcus, He
paspexeHHBbIN Ha / YNNOTHEHHbIA Ha

non perishable goods such as coal steel cars and aeroplanes can be stored for considerable
periods of time without loss of value this is not true however with perishables which must be
placed on the market as quickly as possible if they are not sold quickly they will deteriorate if
they deteriorate while in storage or in the shops both producers and distributors lose a large
amount of money if there is a glut of certain perishables these commodities must be sold
quickly even if the selling price is too low for a satisfactory profit
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pa3pexeHHbl Ha / YNNOTHEHHbIN Ha

OTdpopMmaTupoBaHo: LLpudT: 12 NT, NOAYXUPHBIN, KypCuB,
He pa3peXeHHbIl Ha / YNNOTHEHHBIN Ha

OTtcdopmaTupoBaHo: LLpudT: 12 NT, NOAYXUPHBIA, KYpCuB,
HEe PaspeXeHHbI Ha / YNIOTHEHHBIN Ha

OTcdopmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHbBIW, KypcvB

OtdopmaTupoBaHo: Crpasa: 0,63 cm
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4.Below are pairs of sentences. In the first sentence there is a verb in_italics. In the second

sentence there is a blank. Make the italicized verb into a noun in order to fill the blank.

EXAMPLE manage =>manage + ment => management
a It is sometimes necessary to_adjust the quantity of goods flowing on to the market. This
is made according to market conditions. in measuring changes in the price
adjust the quantity of goodsof essential commaodities. This
b He arranged the committee meeting. His were _very efficient.
¢ The government encourages private enterprise. Their sometimes takes the
form of financial help.
d Some economists are interested in measuring changes in the price of essential commodities.
This extends over a period of years.
flowing on to the market. This___ extends over a period
is made according to  of years.
e The management tried to assess_the amount of money needed for
the plan. The was to be made by a special committee.
f He decided to invest his capital in the new enterprise. His might be very

market conditions.

profitable.

5. Change these sentences in order to use the auxiliary verbs do or did. These verbs are

used for emphasis,

These verbs are used for emphasis.
EXAMPLE i. These goods and services have a value. => These goods and services do have
a value,

ii.The people went to the city to find work. => The people did go to the city to
find work.

a These factors have an effect upon the economic system.capital for a new housing
upon the economic system.

scheme.

b The management tried to change the methods.

c The representatives of the employers and employees met last week.

d The decision made by the trade unions affects everyone in the industry

e Short-term economic anarchy has a bad effect on longterm stability and investment.
f The surplus money provided capital for a new housing scheme.

g Stable conditions led to an change the methods. improvement in the general

6. Give suitable opposites for these words

EXAMPLE capitalism: communism.

a minority b maximum ¢ theoretical
d positive e public [t collective
g solid h simplify ! i longterm

OTtcopmaTnpoBaHo: LLpudT: 12 0T, NONYXWUPHBIN, KypCuB,
He paspexXeHHbI Ha / YNIOTHEHHBIN Ha

[O'rd)opma'ruponaﬂo: LWpndT: 12 NT, NONY>XMPHBINA, KypcuB ]

OtdopmaTuposaHo: LLpudT: 12 nT, Kypcus, He
Pa3pEexeHHbIN Ha / YNIIOTHEHHDBIN Ha

OTdpopMmaTupoBaHo: LLpudT: 12 NT, NOAYXUPHBIN, KypCuB,
He pa3peXeHHbIl Ha / YNNOTHEHHbIN Ha

OTcpopMmaTupoBaHo: LLpudT: 12 NT, NONYXUPHBIN, He
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

OTtcdopmaTupoBaHo: LLpudT: 12 NT, NOAYXUPHBIA, KYpCuB,
He pa3peXxeHHbIl Ha / YNNOTHEHHBIN Ha

Pa3pEexeHHbIN Ha / YNIIOTHEHHDBIN Ha

OTcopmaTnpoBaHo: LLpudT: 12 NT, NONYXWUPHBIN, KypCuB,
He pa3peXeHHbIi Ha / YNNOTHEHHbIN Ha

OTcpopMmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHBIA, He
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

| |
| |
| a
{O'rd)opma'mposauo: WpMET: 12 T, MOAYXMPHbIT, He }
{ )
{ }

O'r(bopma'mposauo LWpudT: 12 NT, NONYXUPHBINA, Kypcus,
He pa3peXeHHbIl Ha / YNNOTHEHHBIN Ha

O'rd)opmamposauo WpundT: 12 NT, KypcuB, He
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

OtcdopmaTupoBano: LLpudT: 12 nT, kypcvs

O'rd)opmaruponauo WpndT: 12 NT, NONYXMPHBINA, KypCuB,
He pa3peXeHHbIi Ha / YMNOTHEHHbIN Ha

O'rd)opmamposauo WpucT: 12 NT, NONYXKMPHBIN, HEe
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

7. Many words are formed by adding -able, There is however an active use of -able and a

passive use. Try these exercises.
A The Active use of -able.

EXAMPLE Fruit can 'perish => Fruit is perishable.
NOTE that can is not always necessary in the first sentence.

a The plan can work. d These policies suit (us).
b Market conditions can change.
¢ Economic conditions can vary.

[
[
(
{
[
4 {gaIS‘EE);eHHbIMrHa / YIIOTHEHHbI Ha
{
(
(
(
(
[
(

Ho: LLpndT: 12 NT, NONYXUPHBIN, He

O'rqaopmaruposano WpndT: 12 NT, NONY>XMPHBINA, KypcuB,
He pa3peXeHHbIi Ha / YMNOTHEHHbIN Ha

OTcdopmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHbBIW, Kypcvs

OTdopmaTupoBaHo: LLpudT: 12 NT, NOAYXUPHBIN

OTcdopmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHbINA

OT1cdopmaTupoBaHo: LLpudT: 12 NT, NOAYXMPHbIA, KypcvB

O'rd)opMa'mpOBaHo: WpndT: 12 NT, NONYXKMPHBIN, HE
paspexeHHbIN Ha / YNNOTHEHHBIN Ha

OtdopmaTupoBaHo: Crpasa: 0,63 cm
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d These policies suit (us).
e Those products have a value.
f Some investments make a profit.

B The passive use of -able.

EXAMPLE The difficulty can be avoided. => The difficulty is avoidable.
=> Thedifficultyisavoidable.

a The commodity canbe  measured.

b The plan can be tested.,

¢ The flow of work can be_marketed.

d The relationship can be defined,

e The product can be obtained,

8. Translate the following sentences from Ukrainian into English.

1.ToBapu TpHUBAJIOr0 KOPUCTYBAHHS - 1€ Ti TOBAPH, SIKI MOKYTh BUKOPUCTOBYBATHUCS TPU “«

OTtcdopmaTupoBaHo: LLpudT: 12 NT, NOAYXUPHbIA, He
Pa3pexeHHbI Ha / YNNIOTHEHHBIN Ha

[O'rd)opMa'rupoaaHo: WpndT: 12 NT, HE NONYXKMPHBI

DOKH 1 OitpIe,

2. TTonuT — 11e KiIbKiCTh NPOJAYKTY, SIKY CHOKMBayl 0a)KaroTh 1 MOKYTh KYIIUTU HA PUHKY 34
[IEBHY IIHY.

3.3ri/IHO i3 3aKOHOM MOMUTY, YUM BHIIIA I[iHA TOBAPY, THM MEHIIIC Or0 KYNyBaTUMYTh
CIIOJKMBAYi 1 HABIIAKHU.

OT1cdopMaTUPOBaHO: M0 NEBOMY Kpato, HYMEPOBaHHbIN +
YposeHb: 1 + Ctunb Hymepauum: 1, 2, 3, ... + Havatb c: 1 +
BobipaBHuBaHue: cnesa + BbipoBHATb no: 1,27 cm +
Tabynsums nocne: 1,9 cm + Otctyn: 1,9 cm,
MNos.Tabynsumm: 1,59 cm, no nesomy kpato + 9,84 cM, no

®opmart: Cnncok

4.Ha monuT BIJIMBAKOTH TaKi OCHOBHI YMHHUKH: IliHA TPOAYKTY, IOXO/IH Ta iHAUBLIYaTbHI
CMaKU HACEIIEHHS,

5.IIpomo3uis — 11 Ta KiTbKiCTh MPOJYKTY, IKY BUPOOHHK Oaska€ i CIIPOMOKHHUI BUPOOIATH i
HOCTA4aTH I MPOJIAXKy Ha PUHKY.
6.BigHonIeHHS 3MiHM MONKUTY HA MPOAYKT JIO 3MiHM IiHW HA3UBAIOTh €NACTUYHICTIO TMIOMUTY,

L7, Ha enacTW4HICTh PONO3UIIIi BINTMBAIOTH TAKi OCHOBHI YHHHHKH: Yac,
BapTICTh POLIMPEHHS BUPOOHHIITBA 1 BAPTICTh 30€pIiraHHs IPOAYKTY.

29«

OTtcdopmaTnpoBaHo: LLpudT: 12 nT, pycckuii

OTtcdopmaTupoBaHo: LLpudT: 12 nT, pycckuit

OTtcdopmaTupoBaHo: LLpudT: 12 nT, pycckuit

OTtcdopmaTupoBaHo: LLpudT: 12 nT, pycckuit

OTtcdopmaTupoBaHo: LLUpudT: 12 nT, pycckuit

(

(

&\
AN [ OTcdopmaTupoBaHo: LLpudT: 12 nT, pycckuit

|
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UNIT 7,

Labour ‘aﬁd Capital

Text A

Money is not only a means of exchange but is also a means of measuring the value of men's

Jabour. In economic theory, 'labour’ is any work undertaken in return for a fixed payment.

The work undertaken by a mother in caring for her children may be hard work, but it
receives no fixed payment.' It is not therefore labour in the strict 5 _economic sense.
As a scientist, the economist is interested in measuring the services which people render to

OTcdopmaTupoBaHO

/| OTdopmaTnpoBaHo

" | OTdropmaTnpoBaHo

y OTcdopmaTupoBaHO

'_| OTdopMaTHpOBaHO

OTdopmaTMpoBaHo

OTcdopmaTupoBaHo

OTcdopmaTupoBaHO

OTchopMaTMpoBaHO

OTcdopmaTupoBaHo

OTchopMaTMpoBaHO

OtcdopmaTupoBaHo

each other. Although he is aware of the services which people provide for no financial

OTdopmaTMpoBaHoO

reward, he is not con-
Icerned with these services. He is interested essentially in services o which are<
measurable in terms of money payments of a fixed and/or regular nature. In economics,

money is the standard by which the value of things is judged. This standard is not a |

religious or subjective standard, but an objective and scientific one.
Human labour produces both goods and services. The activities of 15 a farmworker and a

nurse are very different, but both are measurable in terms of payment received. Labour in

this sense is not concerned with distinctions of social class, but simply with the payment /- '

of wages in return for work. When we talk about ‘the national labour force', however, we

are thinking of all those people who are available for 20 work within the nation, i.e. the
working population.

OTcdopmaTupoBaHo

OTcdopmaTupoBaHO

OTchopMaTMpoBaHO

OTcdopmaTupoBaHoO

OTchopMaTMpoBaHO

' | OTdpopmaTnpoBaHo

OTdopMmaTMpoBaHO

OtcdopmaTupoBaHo

/| OTcpopmaTnpoBaHoO

OTcdopmaTupoBaHo

It should be noted that any person engaged in private business is not paid a fixed sum for

| OTdhopmaTpOBaHO

his activities. He is self-employed and his_activities are partly those of an employer and

OTchopMaTMpoBaHO

partly those of an employee. If however he employs an assistant, to whom he pays a fixed - g

wage, his new employee provides labour in return for payment. He receives his wages,
while his employer receives the surplus (large or small) from the whole business. This

surplus is the reward of private enterprise and is known as 'profit'.

Labour is any work performed for an employer at a negotiated rate while profit is the« )

surplus which accumulates as a result of productive work. The employer obtains this

OtcdopmaTupoBaHo

/| ordpopmaTuposano

OTchopMaTMpoBaHO

OTcdopmaTupoBaHo

surplus after he pays the necessary expense of his business and the wages of his employees.

He may be required to share the surplus with others who have provided the capital with

which he started his business. Most businesses need capital in order to start productive

) O'rd)opMa'ru poBaHo

OTcdopmaTupoBaHo

work, and the capital pays for the accommodation, machinery and other items which the

| OTdopmaTnpoBaHo

business needs. There is always an element of risk in providing capital and starting a
business. The business may not be successful. The employees of the business do not bear

this risk, but the employers and the providers of capital do bear it. If the business is

successful, the risk has been justified and the invested capital earns part of the profits asa

return on the investment.

The capital which people provide to help new businesses is an accumulation of previous

surpluses on previous business activities. In this way the past is used to finance the future.

Such capital is accumulated by a deliberate policy of saving surpluses. This policy may be

personal and individual, or it may be public and collective. As such, it is common to
different systems. In different systems, a certain part of the profits is 'ploughed back’ into

the system in order to create capital.
In_general terms, capital can be defined as (1) a factor of production (for example,«

OTcdopmaTupoBaHO

OTdopmaTMpoBaHO

OTcdopmaTupoBaHo

h OTchopMaTMPOBaHO

OTchopMaTMpOBaHO

OtcdopmaTupoBaHo

; | OTchopmaTupoBaHo

OTcdopmaTupoBaHO

OTdopmaTMpoBaHO

OTcdopmaTupoBaHo

OTcdopmaTupoBaHO

machinery or cash); (2) the assets possessed by a person, a company or a nation. Land,

OTchopMaTMpoBaHO

houses and shares in a business are capital. In terms of the state, all railways, docks, roads,
airports and state funds of money are part of the nation's capital.

1.Answer these questions, basing your answers on the text.,

a What is money, in addition to_being a means of exchange?
b What, in economic theory, is 'labour' ?
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OTdopMmaTMpoBaHO

OtcdopmaTupoBaHo

OtcdopmaTupoBaHo

OTdopmaTMpoBaHo

OTcdopmaTupoBaHo

OTcdopmaTupoBaHO

OTcdopmaTupoBaHo

OTdopmaTMpoBaHO

) OTcdopmaTupoBaHo

31313131313131331313131313131313)31313131313131313131313)313131313131313131 3131 31313131313 31313131 31 31 31 31 3}




¢ Why is a mother's work not'labour'?

d What does the economist measure ?

e What is he not concerned with ?

/ What two words are used to describe the money standard?

f What two words are used to suggest different standards from the money standard ?
g What common factor relates the work of the nurse and the farmworker?

h What is profit?

i At what point does an employer obtain his surplus? </

j Who may he be required to share it with?

k What do most businesses need?

| Why is there always an element of risk in providing capital?

OTcdopmaTupoBaHo: LLpudT: 12 nT, MacwTab 3HaKos:
100%

OtdopmaTuposaHo: WpudT: 12 0T, LiBeT wpudrTa:
YepHbiii, aHrnuiickuii (CLLIA)

OTtcdopmaTupoBaHo: LpudT: 12 nT, MacwTab 3HaKkoB:
100%

OtdopmaTupoBaHo: Mo3.Tabynsuumn: 6,27 cM, No neBomy

OtcdopmaTupoBaHo: LLpudT: 12 nT, MacwTab 3HaKoB:
100%

OtdopmaTupoBaHo: LLpudT: 12 nT, He kypcuBs, MaclTab
3HakoB: 100%

m Who bears the risk?

n What justifies the risk?

0 How is the past used to finance the future? «

p,What do people 'plough back' into the system?
g Why is it ploughed back?

2 Say whether these statements are true (T) or false (F), and if they are false say why.

a () Money is both a means of exchange and a means of measuring labour.

€ () The money standard as

exchange and a means of used by economists is scientific

measuring labour. and strictly objective.

b () A mother's work in caring_for her children is not labour because it is seldom very hard
work.

/() Economists say that the

for her children is not labouractivities of farmworkers and

because it is seldom very hard  nurses are the same.

work- g () Labour in the economic

¢ () The economist is interested_in the services which people provide for nothing.

is also concerned with the

in the services which peoplepayment of higher wages to the

provide for nothing. national labour force.

d () Services which are measurable in terms of money Iconcern the economist very
much.

e (_) The money standard as used by economists is scientific and strictly objective.

sense

f(_ ) Economists say that the activities of farmworkers and nurses are the same.

g ( ) Labour in the economic sense is also concerned with the payment of higher wages to

the national labour force.
h () If an employer engages an_assistant, his own work can be classified as labour,

-| OTrdbopmaTupoBaHoO
- OTdopmaTMpoBaHo

OTcdopmaTupoBaHo: LLpudT: 12 nT, MacwTab 3Hakos:
100%

‘| OTdpopmaTupoBaHo: LpndT: 12 nT, MacwTab 3HaKoB:

100%

OtdopmaTuposaHo: LLpudT: 12 nT, MacwTab 3Hakos:
100%

OtdopmaTuposaHo: LLpudT: 12 nT, MacwTab 3HaKoB:
100%

OtcdopmaTuposaHo: LWpudT: 12 nT, LiBeT wpudrTa:
YepHblit, aHrnuiickuii (CLLA)

OTtdopmaTupoBaHo: Mo3.Tabynsummn: 6,27 cM, no nesoMy
Kpato + HeT B 5,96 cm

OTcdopmaTupoBaHo: LLpudT: 12 nT, MacwTab 3Hakos:
100%

OtcdopmaTuposaHo: LLpudT: 12 nT, MacwTab 3Hakos:
100%

MacwTab 3Hakos: 100%

OtcdopmaTuposaHo: LLpudT: 12 nT, MacwTab 3HaKoB:
100%

OtcdopmaTupoBaHo: LWpudT: 12 nT, LiBeT wpudrTa:
YepHblit, aHrnuiickuii (CLLIA)

OTtcdopmaTupoBaHo: LLpudT: 12 NT, NOAYXUPHBIA, KYpCuB,
He pa3peXeHHbIl Ha / YNNOTHEHHbIN Ha

OTtcdopmaTupoBaHo: LLpudT: 12 NT, NONYXMPHbIA, KypcvB

(D U | U U U U U | G | U G U | G | G | U | G U | G| U | G

OTchopMaTMpOBaHO

OTdopmaTMpoBaHO

OtcdopmaTupoBaHo

i () Labour is work performed by an employer at a negotiated measurable in terms of money

rate.
j(_) The expenses of a business are part of its surplus.

-| OTdpopmaTnpoBaHO

k() Usually new businesses need capital.

|(_) Because businesses may not always be successful, there is always some risk involved

in_financing them. assistant, his own work can be
m (_) Employers and employees share the risk in financing new enterprises.

~| OTdpopmaTHpoBaHO

n () The surpluses which people provide to help new businesses arise from previous economic

~| OTdpbopmaTMpoBaHO

activities.
0 () A nation's capital in economic terms is the city where the government is situated.

‘| OTcbopmaTHpoBaHo
| OTchopmaTUpOBaHO

| OTcdhopmaTUpOBaHO

OTcdopmaTupoBaHo

OTcdopmaTupoBaHoO

OTdopmaTMpoBaHO

OtcdopmaTupoBaHo

OTcdopmaTupoBaHo

3 Combine these sentences by using not only .. . but also, This compination creates a

contrast.
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OTcdopmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHbBIW, KypcvB

OtdopmaTupoBaHo: Crpasa: 0,63 cm
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'EXAMPLE Money is a means of exchange.
Money is a means of measuring men's labour. =>
Money is not only a means of exchange, but also a means of measuring men's labour.

a The economic system is the sum-total @ The economic system is the
sum-total of our individual economic activities.
The economic system is the general situation which influences our individual
activities. The factory is losing valuable
economic activities. workers.
b This scheme is acceptable to  both the management and the trade unions.
This scheme has government approval.
¢ The factory is producing less  every year.
The factory is losing valuable workers.

gvery year,

A. Punctuate the following passage. Provide capital letters, commas, full stops, brackets,
colons etc., where applicable.,
the total working population of noland in 1965 was about 15 million' some 46 per cent of
the total population this included about 76 per cent of persons of normal working age 14 to
60 for women 14 to 65 for men about 90 per cent of the men were engaged in productive
work while the remaining ten per cent were students private individuals without the need to
work or disabled persons the proportion of women in the national labour force was much
lower being about 54 per cent many women did not wish to undertake paid employment or
were prevented from doing so by household duties the great majority of the working
population worked for a wage or salary but 0'9 million were employers or self employed

5. Make the words negative by using the prefix dis-

EXAMPLE satisfaction => dis + satisfaction => dissatisfaction

NOTE The prefix dis- usually possesses a more specialized meaning of 'oppositeness' or
‘'opposite action' than the negative prefixes un-, in- and non-. Use your dictionary if
necessary.

a ability b pleasure _cagree d obey e
possess

f engaged g connect _h qualify i continue j
comfort

5

EXAMPLE (1) _ He may be required to share the surplus with others. N
The others have provided the capital. => He may be required to share the
surplus with others
who have provided the capital.
(2) The manager will begin work next month. N

The manager was appointed last week. => The manager who was <

appointed last week will begin work next month.

a He may wish to discuss the scheme with others. The others have been interested in it for -
some time.
b The economics expert took six

/

Combine these sentences by using who, following either the first or second example. |

OTtcdopmaTupoBaHo: LLpudT: 12 nT, Kypcus, He
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

|

OTcdopmaTupoBaHo: LLpudT: 12 NT, He pa3pexeHHbIi Ha /
YNAOTHEHHbIV Ha

|

OTdpopMmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHBINA, Kypcvs

OTtcopmaTupoBaHo: LLpudT: 12 NT, NONYXUPHBIN, KypCuB,
He paspeXeHHbI Ha / YNIOTHEHHBIN Ha

OTcopmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHbIA, KypCuB,
He pa3peXeHHbIl Ha / YMNOTHEHHbIN Ha

OTcdopmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHbBIW, Kypcvs

OT1cdopmaTupoBaHo: LLpudT: 12 NT, NOAYXMPHbIA, KypcvB

OTcdpopMmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHBIA, KypCuB,
He pa3peXeHHbIi Ha / YMNOTHEHHbIN Ha

OtcdopmaTupoBaHo: LLpudT: 12 nT, KypcuB, He
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

OTtcdopmaTupoBaHo: LLpudT: 12 NT, NOAYXMPHLIA, He
Pa3pexeHHbIN Ha / YNIOTHEHHbIN Ha

OTtcdopmaTnpoBaHo: LLpudT: 12 NT, NONYXWUPHBIN, KypCuB,
He pa3peXeHHbIi Ha / YMNOTHEHHbIN Ha

OTtcdopmaTupoBaHo: LLpudT: 12 NT, NOAYXMPHbLIA, He
Pa3pEexeHHbIN Ha / YNIOTHEHHbIN Ha

OTcopmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHBIA, KypCuB,
He pa3peXeHHbIi Ha / YMNOTHEHHbIN Ha

OTdpopMmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHBINA, Kypcvs

OTcdopmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHbBIW, Kypcvs

Kpato + HeT B 5,08 cm

OTtdopmaTupoBaHo: Mo3.Tabynsumm: 3,49 cM, no nesomy
Kkpato + HeT B 5,08 cm

OtdopmaTuposaHo: Otctyn: Cnesa: 4,13 cm,
Mo3.Tabynsumu: 4,13 cM, no nesoMmy kpato

OtcdopmaTuposaHo: LLpudT: 12 nT, MacwTab 3Hakos:
100%

OtcdopmaTupoBaHo: Mo3.Tabynsumu: 8,57 cM, No LEeHTpy
+ HeTB 6,16 cM + 6,49 cM

OtcdopmaTuposaHo: LLpudT: 12 nT, MacwTab 3HaKoB:
100%

OtdopmaTupoBaHo: LLpudT: 12 nT, He kypcus, MaclTab
3HakoB: 100%

OTcdopmaTupoBaHo: LLpudT: 12 nT, MacwTab 3HaKos:
100%

OtdopmaTupoBaHo: LLpudT: 12 nT, MacwTtab 3Hakos:
100%

OtcdopmaTuposaHo: LLpudT: 12 nT, MacwTab 3Hakos:
100%

OtdopmaTuposaHo: LpudT: 12 nT, LiBeT wpudrTa:
YepHbiit, aHrnuiickuii (CLLA)

scheme with others.  months to present his report. The expert was chosen to __investigate
the matter.

¢ The government appointed a special commission of industrial experts.

OtcdopmaTupoBaHo: LLpudT: 12 nT, He KypcvB

OtdopmaTuposaHo: WpudT: 12 nT

OtdopmaTupoBaHo: Crpasa: 0,63 cm
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These experts would meet reqularly to plan production targets.

d Those employees were satisfied with the working conditions. The employees were
engaged on two-year contracts.

¢ Those employees were not satisfied with the working conditions. The employees were
engaged on a day-to-day basis.

/The bank decided to provide capital for the farmers. The farmers were interested in
increasing their productivity.

g The official investigator decided that the management was not efficient.

The investigator was sent by the government to inspect the factory,

h The trade unions represent the majority of those workers. The workers earn fixed wages. <
i The owners of the factory needed a manager. The manager would be concerned not only
with efficiency in production but also with good relations between employers and
employees.

J The central planning authorities discussed changes in policy. The authorities were
concerned with the drop in production.

7.. Punctuate the following passage. Provide capital letters, commas, full stops, brackets,
colons etc., where applicable,

there must always be people willing to bear the risk of new business undertakings in
addition to simple risk bearing however it is necessary to have people who will control and
co ordinate the various factors of production such people should decide the nature the
guantity the quality and the distribution of new products as well as bearing the risk of
success or failure economists call the person who undertakes these functions an
entrepreneur this term is french and means one who undertakes something

8. Make compound words by altering these sentences. «

- [O'rd)opMa'mponaHo: Mo wupuxe J
OtcdopmaTuposaHo: LLpudT: 12 nT, Kypcus, He
paspexeHHBbIN Ha / YNNOTHEHHbIA Ha

OTcdpopMmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHBIA, KypCuB,
He pa3peXeHHbIi Ha / YMNOTHEHHbIN Ha

“‘{OTdJopMaTMpOBaHO: WpundT: 12 NT, NONYXUPHBINA, Kypcus, }

HE PaspeXeHHbII Ha / YNNOTHEHHDIN Ha

{ OTcdopMmaTpoBaHo: LLpudT: 12 NT, NONYXUPHBINA, Kypcus ]

-| OTdhopMaTupoBaHo: LLipudT: 12 NT, NONYXUPHbIA, KypCuB,

HE PaspeXeHHbII Ha / YNMOTHEHHBIN Ha

EXAMPLE He is not interested in bearing risks. => He is not interested in risk-bearing.

a He is not interested in owning a house.

b He is interested in making profits.

¢ The company has decided on a policy of sharing profits.

d The business of raising capital is sometimes difficult.

The employees were engaged onwith good relations between

a day-to-day basis. ,  employers and employees.
/The bank decided to providej The central planning authorities
capital for the farmers. discussed changes in policy.

9. Translate the following sentences from Ukrainian into English:

OtdopmaTuposaHo: Otcryn: Cnesa: 1,27 cm

OTtcdopmaTnpoBaHo: LLpudT: 12 nT, PppaHuy3ckuin
(®paHuums)

(®paHuums)

OTtcdopmaTupoBaHo: LLpudT: 12 nT, bpaHLysckuii
(dpaHuus)

OtdopmaTupoBaHo: LLpudT: (No ymonyauuio) Times New

{ OTtcdopmaTupoBaHo: LLpudT: 12 nT, PppaHuy3ckuit
{Roman, 12 nT, He nonyXwpHbIK, LiBeT wpudTa: ABTO

OtdopmaTupoBaHo: Otctyn: Cnesa: 1,27 cm, Boictyn:
0,32 cM, Moz.Tabynsiumm: 1,59 cM, BbIpoBHSTL NO NO3ULMK
Tabynsumm + HeT B 3,17 cM

/| ®@opmart: Cnmcok

1.IIpans — BukopucTtanHs Qi3MUHUX i pO3YMOBUX 3110HOCTEH JIOAMHHU /Ul BUDOOHUIITBA <+ }
- | OrdopmaTupoBaHo: LLpudT: (no ymonyanuio) Times New }

TOBAPIB i ITOCIVT.

9-2. Kamitan — 11e O1H 3 OCHOBHUX (haKTOPiB BUPOOHUIITBA, KNI CKIATAETHCS 3
BHUTOTOBJICHUX TOBApPiB, NPU3HAYCHHX VIS TANTBIIOrO BUKOPHCTAHHSL.

3.Cuenianizalis JIrOIed Ha BUTOTOBJIEHHI IEBHUX BHUJIIB NIPOAYKILi 00 BUKOHAHHI IEBHUX
onepaniii Ha3UBa€TLC MMOAIJIOM IIPALLi.

4 IIpolyKTUBHICTB IIpalli O0YMCIIOETHCS AIIEHHSIM 3arajJbHOro 00csary npoayKIii Ha
KIJIbKICTh MpAalli, BATPAYEHOI HAa HOr0 BUPOOHUIITBO.

5.Po6oya criia — 1ie 3arajibHa KijapKicTh 0c¢i0 BikoM 16 pOKiB i cTapiumx, siKi OpalfolTh, €
0e3p0o0ITHUMHU 200 aKTUBHO IITYKAIOTh POOOTY.

6.Bce, 1110 Ma€e rpoIoBy BapTicTh i € BAacHICTIO (hipMHu a00 0co0M, HA3UBAETHCS AKTUBAMU.

7.DinancH — I1e CUCTEMa EKOHOMIYHMX BIJIHOCHH IIOJ0, CTBOPEHHS, PO3IOALIY i
BUKOPUCTAHHSI I'POLIECH.

1.8. HajimuIok — 11e mepeBMIEHHS BEIMYUHU IPOMO3HMIIIT TOBAPY HaJl BEAUYUHOK HOMUTY.

33+«

g OtdopmaTuposaHo: LLpudT: (no ymonuanuio) Times New

Roman, 12 n, UseT wpudTa: ABTO

Roman, 12 nt, UgeT wpudTa: ABTO

OTtcdopmaTupoBaHo: LLpudT: (no ymonyanuio) Times New
Roman, 12 n7, LiBeT wpudTa: ABTO

OtdopmaTupoBaHo: LLpudT: (No ymonyauuio) Times New
Roman, 12 nT, He nonyxwupHbii, LiBeT wpudTa: AsTo

Roman, 12 n7, LiseT wpudTa: ABTO

OTtcdopmaTnpoBaHo: LLpudT: (no ymonuanuio) Times New
Roman, 12 nT, LiBeT wpudTa: ABTO

/| OTdpopmaTupoBaHo: LLpudT: (no ymonyanuio) Times New

Roman, 12 n, UseT wpudTa: ABTO

~—| OTdpopmaTupoBaHo: LpudT: (No ymonuaHuio) Times New

Roman, 12 nt, UgeT wpudTa: ABTO

{Ord)opma'mpoaauo: WpundT: (no ymonyanuto) Times New
[O'rd:opma'mposano: Cnpasa: 0,63 cm




OtcdopmaTupoBaHo: Cnpasa: 0,63 cM




UNIT 8

OTcdpopMmaTupoBaHo: LLpudT: 12 NT, NOAYXUPHBINA

Markets and Monopolies

The term 'market’, as used by economists, is an extension of the ancient idea of a market as
a place where people gather to buy and sell goods. In former days part of a town was kept as
the market or marketplace, and people would travel many kilometres on special market-

days in order to buy and sell various commodities. Today, 5 however, markets such as the

world sugar market, the gold market and the cotton market do not need to have any fixed

geographical location. Such a market is simply a set of conditions permitting buyers and

sellers to work together.

In a free market, competition takes place among sellers of the same o commodity, and+

among those who wish to buy that commodity. Such competition influences the prices
prevailing in the market. Prices inevitably fluctuate, and such fluctuations are also

OTtcdopmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHBIA,
aHrnmiickuii (CLUA)

OTtcdopmaTnpoBaHo: LLpudT: 12 0T, NONYXUPHbIK, He
Pa3pEXeHHDIN Ha / YNNOTHEHHbIA Ha

OTtcopmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHBIA, He
paspexeHHBbIN Ha / YNIOTHEHHBIN Ha

OTcpopMmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHBIA, He
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

OTtcdopmaTupoBaHo: LLpudT: 12 NT, NONYXMPHbIA, He
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

OTcdopmaTupoBaHo: Mo WrprHe

OTdpopMmaTupoBaHo: LLpudT: 12 NT, NONYXUPHBIN, He
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

affected by current supply and demand.

Whenever people who are willing to sell a commodity contact 15 people who are willing
to buy it, a market for that commodity is created. Buyers and sellers may meet in person, or
they may communicate in some other way: by letter, by telephone or through their agents.
In a perfect market, communications are easy, buyers and sellers are numerous and
competition is completely free. In a perfect 20 market there can be only one price for any
given commodity: the lowest price which sellers will accept and the highest which con-
sumers will pay. There are, however, no really perfect markets, and_each commodity market
is subject to special conditions. It can be 25 said however that the price ruling in a market
indicates the point where supply and demand meet.

Although in a perfect market competition is unrestricted and sellers are numerous, free

competition and large numbers of sellers are not always available in the real world. In some
markets there may only be one seller or a very limited number of sellers. Such a situation is
called a 'monopoly', and may arise from a variety of different causes. It is possible to

distinguish in practice four kinds of monopoly.
State planning and central control of the economy often mean that a state government has
the monopoly of important goods and services. Some countries have state monopolies in

basic commodities like steel and transport, while other countries have monopolies in such

comparatively unimportant commodities as matches. Most national authorities monopolize

the postal services within their borders.

A different kind of monopoly arises when a country, through geographical and geological «
circumstances, has control over major natural resources or important services, as for

example with Canadian nickel and the Eqyptian ownership of the Suez Canal. Such mono-

polies can be called natural monopolies.

(
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{Ord)opma'ruponaﬂo: LWpndT: 12 NT, NOMYXMpHSIH, He
{

{

{

{

{

{

|

They are very different from legal monopolies, where the law of a country permits certain

producers, authors and inventors a full monopoly over the sale of their own products.
These three types of monopoly are distinct from the sole trading opportunities which take

place because certain companies have obtained complete control over particular
commodities. This action is often called 'cornering the market' and is illegal in many

countries. In the USA anti-trust laws operate to restrict such activities, while in Britain the

pa3pexeHHbIi Ha / YNNOTHEHHBIN Ha

OTdpopMmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHBIA, He
paspexeHHbIi Ha / YNIOTHEHHBIN Ha

OTtcdopmaTupoBaHo: LLpudT: 12 NT, NOAYXUPHLIA, He
Pa3pexeHHbIN Ha / YNIOTHEHHbIN Ha

OTtcopmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHBIA, He
paspexeHHBbI Ha / YNIOTHEHHbIA Ha

OTcpopMmaTnpoBaHo: LLUpudT: 12 NT, NONYXUPHbIA, He
paspexeHHbIN Ha / YNIOTHEHHBI Ha

OTtcdopmaTupoBaHo: LLpudT: 12 NT, NONYXUPHbIA, He
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

OTcpopMmaTnpoBaHo: LLUpudT: 12 NT, NONYXUPHbIA, He
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

OTtcdopmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHbIN, He
Pa3pEXeHHDIN Ha / YNIOTHEHHbIA Ha

. J ) ) (U U G U | U | G | U | G | U | G | U | G | G

: [O'rqaopma'ruposano: Mo wupuhe

OTtcdopmaTupoBaHo: LLpudT: 12 NT, NOAYXMPHbIA, He
Pa3pexeHHbIN Ha / YNIOTHEHHDBIN Ha

OTtcopmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHBIA, He
paspexeHHBbIN Ha / YNIOTHEHHbI Ha

| OTdopMaTupoBaHo: LLpudT: 12 NT, NOAYXKUPHBINA, HE

paspexeHHbIi Ha / YNNOTHEHHDIN Ha

paspexeHHbIi Ha / YNNOTHEHHBIN Ha

Monopolies Commission examines all special arrangements and mergers which might lead

to undesirable monopolies.
Although in a perfect market competition is unrestricted and sellers are numerous, free
competition and large numbers of sellers are not always available in the real world. In some
markets there may only be one seller or a very limited number of sellers. Such a situation is
5 called a 'monopoly', and may arise from a variety of different causes. It is possible to
distinguish in practice four kinds of monopoly.
State planning and central control of the economy often mean that a state government has
the monopoly of important goods and services. Some countries have state monopolies in
basic commodities 10 like steel and transport, while other countries have monopolies in
such comparatively unimportant commodities as matches. Most national authorities
35+

OTcopMmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHBIA, He
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

OTtcdopmaTupoBaHo: LLpudT: 12 NT, NONYXUPHbIA, He
paspexeHHbIi Ha / YNIOTHEHHBIN Ha

OTtcdopmaTupoBaHo: LLpudT: 12 NT, NOAYXMPHbIA, He

{Ord)opma'mposauo: WpucT: 12 NT, NONYXKMPHBIN, HEe
{DBSPE)KGHHI:II‘;I Ha / YNIOTHEHHBIN Ha

(U U U, G | U G | U

[O'r(bopma'mposauo: Cnpasa: 0,63 cm




monopolize the postal services within their borders.

A different kind of monopoly arises when a country, through geo-15 graphical and
geological circumstances,has control over major natural resources or important services, as
for example with Canadian nickel and the Egyptian ownership of the Suez Canal. Such
monopolies can be called natural monopolies.

They are very different from legal monopolies, where the law of a 20 country permits
certain producers, authors and inventors a full monopoly over the sale of their own
products.

[EXxercises:
1. Answer these questions, basing your answers on the text. /

OTcdpopMmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHbIA, KypCuB,

HE PaspeXeHHbIN Ha / YNMOTHEHHBIN Ha

OTtcdopmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHbBIA,

KypcuB

OTtcdopmaTupoBaHo: LLpudT: 12 NT, NOAYXMPHbINA,

Kypcus

OTcpopMmaTrpoBaHo: LLpudT: 12 NT, NONYXUPHbBIA,

HE PaspeXeHHbIN Ha / YNMOTHEHHBIN Ha

KypcmB,

OtcdopmaTupoBaHo: LLpudT: 12 nT, KypcuB, He
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

OTtdopmaTupoBaHo: LLpudT: 12 nT, Kypcus, He
Pa3pexeHHbIN Ha / YNIOTHEHHbIN Ha

|| OTdopmaTuposaHno: LWpndT: 12 nT, Kypes, He

paspeXeHHbIi Ha / YNNOTHEHHbIN Ha

a What was a market originally?g What three means are mentioned
b What is a modern market? by which buyers and sellers
¢ Among whom does competition_take place?can communicate if they do not

take place? meet in person?
d What does competition influence?,h What price operates in a perfect
influence? market?

e What three things cause prices_to fluctuate ?/ What does the ruling price

to fluctuate ? indicate ?

J/f When is a market created?

g What three means are mentioned by which buyers and sellers can communicate if they do

‘ OTtcdopmaTupoBaHo: LLpudT: 12 NT, NONYXUPHBIA,

Kypcus

| OTdopmaTmposaHo: LLpudT: 12 NT, NOAYXUPHBIN,

HE PaspeXeHHbII Ha / YNNOTHEHHBbIN Ha

KypcuB,

/||| OTdopmaTupoBaHo: LLpudT: 12 NT, NONYKUPHBIN,

Kypcus

OTcpopMmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHBINA, Kypcvs

OtcdopmaTuposaHo: LLpudT: 12 nT, Kypcus, He

||| paspexeHHBIN Ha / yNNOTHEHHbI Ha

OtdopmaTuposaHo: LWpudT: 12 nT, Kypcms

OtcdopmaTupoBaHo: LLpudT: 12 nT, KypcuB, He

paspexeHHbIi Ha / YNNOTHEHHBIN Ha

not meet in person?
h What price operates in a perfect market?

i What does the ruling price indicate ?

i What are not always available in the real world?

k What is a monopoly?

| What are the first three kinds of monopoly?

m What examples of important  state monopolies are given?

n What are Canadian nickel and the Suez Canal examples of?

oWhat are certain inventors permitted by law to have ?

p What word in the last  paragraph shows that the fourth type of monopoly is special
quite distinct from the other three?

g What happens when certain companies obtain complete control over particular
commodities ?

r What do the Americans call arrangements?

s What does Britain use to restrict their anti-monopoly laws?

2. Say whether these statements are true (T) or false (F), and if they are false say why. are
false say why.

a( ) The ancient idea of a_geographically fixed market place has been extended to cover [

sets of conditions which permit buyers and sellers to work together. is created whenever
buyers and

geographically fixed market-  sellers meet in person but not

place has been extended to,  when they work through their,

I

||| OTdopmaTuposaHo: LpudT: 12 nT, Kypcus

Il i OtcdopmaTupoBaHo: LLpudT: 12 nT, KypcuB, He
| PaspexeHHbIl Ha / YyNNOTHEHHBIN Ha

I OtcdopmaTupoBaHo: LWpudT: 12 nT, Kypcus

il OtcdopmaTupoBaHo: LLpudT: 12 nT, KypcuB, He
||| Pa3pexeHHbIi Ha / yNIOTHEHHBIN Ha

OtcdopmaTupoBaHo: LLpudT: 12 T, Kypcus, He
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

OtdopmaTuposaHo: LWpudT: 12 nT, Kypcms

OtcdopmaTupoBaHo: LLpudT: 12 nT, KypcuB, He
paspexeHHbIi Ha / YNIOTHEHHBIN Ha

OtcdopmaTupoBano: LLpudT: 12 nT, kypcvs

OtcdopmaTupoBaHo: LLpudT: 12 nT, KypcuB, He
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

OtdopmaTuposano: LLpudT: 12 nT, kypcus

OTtcdopmaTupoBaHo: LLpudT: 12 nT, Kypcus, He
Pa3pEexeHHbIN Ha / YNIIOTHEHHDBIN Ha

OtdopmaTuposaHo: LpudT: 12 nT, Kypcms

OtdopmaTupoBaHo: LLpudT: 12 T, Kypcus, He
Pa3pexeHHbIN Ha / YNIOTHEHHbIN Ha

OtdopmaTuposaHo: LpudT: 12 nT, Kypcms

OTtdopmaTupoBaHo: LLpudT: 12 T, Kypcus, He
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

cover sets of conditions which,_agents,

permit buyers and sellers to_ /() Competition in a perfect
work together., market is conducted in g

b () The world cotton market is completely free way by not located in any special
place. not located in any special place. numerous buyers and sellers

¢ ( ) The competition between _buyers of a commodity influences the prevailing
prices.enjoying easy communications,

buyers of a commodity, g () The lowest price which
Jinfluences the prevailing prices. buyers will offer is the only
d( ) Supply and demand_inevitably affect prevailing prices.

price in a perfect market,
36+
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OTtcdopmaTupoBaHo: LLpudT: 12 nT, Kypcus, He
Pa3pEexeHHbIN Ha / YNIOTHEHHbIN Ha

OtdopmaTupoBaHo: LLpudT: 12 T, Kypcus, He
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

OtdopmaTuposaHo: LWpudT: 12 nT, Kypcms

OtcdopmaTupoBaHo: LLpudT: 12 nT, KypcuB, He
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

/| OTdhopmaTupoBaHo: LpudT: 12 nT, Kypcus

" | OTdopmaTnpoBsaHo: LpudT: 12 nT, KypcvBs, He

paspexeHHbIi Ha / YNNOTHEHHBIN Ha

OtdopmaTupoBaHo: Crpasa: 0,63 cm
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JInevitably affect prevailing h ( ) Each commodity market

prices, Js imperfect in some special way.,

e () A market for a commodity is created whenever buyers and sellers meet in person but
not when they work through their agents.

f(_ ) Competition in a perfect market is conducted in a completely free way by numerous
buyers and sellers enjoying easy communications,

g (_) The lowest price which buyers will offer is the only price in a perfect market.

h () Each commodity market is imperfect in some special way.

i (_) 'Monopoly' describes a market in which there is only one seller or a very limited
number of sellers.

1. () In. theory there are four Kinds of monopoly.

k (_) States always monopolize important basic commodities.

I () Egyptian nickel is a good example of a natural monopoly,

m(, ) Cornering the market is guite legal in the USA. «
n(_) The Monopolies Commission consider that it is undesirable to restrict business

mergers.

OtdopmaTupoBaHo: LLpudT: 12 nT, Kypcus

O'rqaopmaruposano WpndT: 12 N1, Kypcus, He
paspexeHHBbI Ha / YNNOTHEHHbIA Ha

OtdopmaTuposaHo: LWpudT: 12 nT, Kypcms

O'rd)opmamposano WpundT: 12 NT, KypcuB, He
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

OTtdopmaTupoBano: LLpudT: 12 nT, kypcvs

O'rd)opMaTnpOBaHo WpundT: 12 NT, KypcuB, He
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

O‘r(bopma'mposano WpundT: 12 NT, KypcuB, He
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

OTtdop p : WpudT: 12 nT, KypCuB, He
PaSPE)KeHHbIM Ha / YNNIOTHEHHBIN Ha

O'rd)opma'mposano WpndT: 12 NT, He KypcuB, He
Pa3pexeHHbIN Ha / YNIOTHEHHbIN Ha

OtdopmaTuposaHo: LLpudT: 12 nT, Kypcus, He
Pa3peXxxeHHbI Ha / YNIOTHEHHDbIV Ha

0'r¢opma1'uponano WpundT: 12 N1, KypcuB, He
paspexeHHBbIN Ha / YNIOTHEHHBIN Ha

passive. Two answers are required., \
EXAMPLE The term 'market' is an extension of the ancient idea of the market-place.
Economists use the term in a special way.
i \. => The term 'market', as the term is used by economists, is an extension of the ancient
idea of the market-place, . ii. => =*« The term 'market’, as used by economists, is an
extension of the ancient idea of the market-place.
a The term 'labour' means anywork done for a known reward. _Economists present the idea
in
work done for a known reward. a special way.
_ Economists use the term in a_special way. _d The methods of controlling

special way. prices and wages will probably «
b The term 'money’ refers not only to a means of exchange but also to a means of measuring <

the value of _men's labour. not succeed.

_only to a means of exchangeThe government described the
but also to a means of methods in a special way.
measuring the value of men'se The scheme for a new industrial
labour. Economists understand_the term in a special way.complex will take fifteen years
the term in a special way. to complete.
¢ The idea of a perfect market is_a theoretical concept and not a practical reality. The
planners discussed the
_ atheoretical concept and not ascheme at the meeting in a

pa3pexeHHbI Ha / YNNOTHEHHbIN Ha

OtdopmaTupoBaHo: LLpudT: 12 nT, kypcus

OtdopmaTupoBaHo: LLpudT: 12 nT, Kypcms

OTcdopmaTupoBaHo: Mo nesoMy kpato, Mo3.Tabynsauum:
1,59 cM, no nesoMy kpato + HeT B 5,08 cM

O'rd)opma'mposano WpundT: 12 NT, KypcuB, He
Pa3pexeHHbIN Ha / YNIOTHEHHbIN Ha

OtcdopmaTuposaHo: Otcryn: Cnesa: 1,25 cm

O‘r(bopma'mposano LWpudT: 12 NT, NONYXUPHBINA, Kypcus,
He pa3peXeHHbIl Ha / YNNOTHEHHbIN Ha

O'rd)opmaruposano WpundT: 12 NT, KypcuB, He
Pa3pEexeHHbIN Ha / YNIOTHEHHDBIN Ha

O'quopmaTuposaHo WpndT: 12 NT, NONY>XMPHBINA, KypcuB,
He pa3peXeHHbIi Ha / YMNOTHEHHbIN Ha

OTtcdopmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHBIN, KypCuB,
LipeT wpudTa: YepHbii, aHrnuiickuii (CLLA)

OtdopmaTuposaHo: Otcryn: Boictyn: 0,32 cm

OtcdopmaTupoBaHo: Otcryn: Cnesa: 1,27 cm, Boictyn:

f
f
f
3. Combine these pairs of sentences by using as and by making the second sentence-« %
(
%
E
(
{o 2

)
)
)
)
)
|
|
)
)
}
|
OTdpopmaTupoBaHo: LLpudT: 12 T, Kypcws, He }
)
)
}
|
)
|
}
)
|
)
}

practical reality. special way.

Economists present the idea in a special way.

d The methods of controlling prices and wages will probably not succeed. {Oﬂbopma'mposano: LUpudT: 12 T, @HrAMIACKWiA }
The government described the methods in a special way. (Coenurentoe Koponescrso)

e The scheme for a new industrial complex will take fifteen years to complete.
The planners discussed the scheme at the meeting in a special way.

4. Arrange these sentences in their proper sequence in order to obtain a paragraph on
durable goods,
A Finally, it is interesting to note that many buyers and sellers on important markets never

[O‘r(bopma'mposano: LWpundT: 12 NT, NONYXUPHBINA, Kypcus ]
see the commodities which they buy and sell. {Onbopmamposam: LpugT: 12 NT, NONYXMpPHBIiA, Kypcus, }

OTcdpopMmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHbIA, KypCuB,
He pa3peXeHHbIl Ha / YMNOTHEHHbIN Ha

B Commodities like these can be bought and sold and stored without difficulty by people He Pa3peXEHHbit Ha / ynoTHeHHeI Ha

who live at great distances from each other and from the sources of supply.

C Certain commodities have a wider market than others.

D In addition, commodities which are easy to transport, safe to handle and simple to grade
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are generally in universal demand.

E Durable foods, for example, a far wider market than have perishable goods.

5. Punctuate the following passage. Provide capital letters, commas,

[O'rqaopma'rupoaaﬂo: LWpndT: 12 NT, NONY>XMPHBINA, KypcuB

)

_full stops, brackets, colons etc., where applicable.,

monopolies and similar arrangements may be referred in britain to the monopolies
commission between 1948 and 1966 the commission presented some twenty six reports the
government in 1965 passed a special act called the monopolies and mergers act which re
organized and enlarged the monopolies commission it provides for the investigation of
services and mergers especially newspaper mergers and improves and extends the
governments powers for taking action the action of the government is based on the
monopolies commissions reports

6.. Find single words in the text for which these words could be subgstituted :

OT1cdopmaTupoBaHo: LLpudT: 12 NT, NOAYXUPHBIA, KYpCuB,
HEe PaspeXeHHbI Ha / YNIOTHEHHBIN Ha

[O'r(bopma'mposauo: LWpundT: 12 NT, NONYXUPHBINA, Kypcus

)

OTdopmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHBIWA, Kypcvs

OTtcdopmaTupoBaHo: LLpudT: 12 NT, NOAYXUPHBIA, KYpCuB,
He PaspeXeHHbIi Ha / YMIOTHEHHBIN Ha

stituted :,

a many e essential (1-3)/i allows mlimit <
(19-21)

b restricted [ relatively (3-4)j categories n

studies (22)

¢ condition
d separate out

g frontiers (4-6) k commercial o unions (22-24)

) OT1cdopmaTupoBaHo: LLpudT: 12 NT, NONYXUPHbIA, KypcvB

OTcpopMmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHbIA, KypCuB,
He pa3peXeHHbIi Ha / YNNOTHEHHbIN Ha

OTcdpopMmaTrpoBaHo: LLpudT: 12 NT, NONYXUPHBINA, Kypcus

htype (6) [/ unlawful (24-28)

7. Translate the following sentences from Ukrainian into English:

1.

4.

(24-28) AHTHMOHOIIONIBHE ~ 3aKOHOJABCTBO — 1II€ CYKYNHICTh 3aKOHOJABYMX Ta
HOPMAaTHBHUX aKTiB y KpaiHaXx 3 pPHHKOBOIO EKOHOMIKOIO, IO OOMEKYIOTh
MOHOIONICTHYHY AisUTBHICT i CTBOPIOIOTh MOXKJIMBICTD JUISL TIOKYIILS OLTBII IIMPOKOTO
BHOOpY MOTPIOHUX HOMY TOBapiB.

KoHkypeHIist — e mpomnec CyHnepHHUITBA MiXK TOBApOBUPOOHNKAMH, OCTaYa IbHUKAMU i
MOKYTIIMH TOBapiB 32 HAWBUTIIHIIINX YMOB iX BUPOOHMIITBA Ta peaji3aii.

Punok — e cdepa oOMiHy TOBapaMH i IOCIyraMH MDK IPOAABISAMH W HOKYIILISIMU,
Micie, ¢ 3IIHCHIOETBCS KYIIBISA-TIPOIaX; CHCTEMa CKOHOMIYHHMX BIJHOCHH MiX
BUPOOHHUKAMH 1 CITOYKUBAYAMH MTPOAYKIIIT.

BijbHUII pUHOK - PUHOK, 3aCHOBAaHHMH Ha CGKOHOMIYHiH BITOCOOJIEHOCTI HOPHIMYHO
BUIBHMX TOBAPOBUPOOHHKIB, TPUMAETHCS HA CUCTEMI BUIBHOTO IMiITPUEMHHUIITBA.

5. MoHormouis 03Ha4ae, 110 HA PUHKY € €IMHUI POIaBEeIlb TOBAPY YU IOCIYTH,

6.

[IpupoaHa MOHOIOMIS — LI CIPOMOXKHICTD ONHI€T (hipMH MPONABATH IIPOAYKT JCIICBIIC,

HDK iH011 ipmu.

5.7.Cuekyiisiis — 1€ JAsUIbHICTh, 110 MOJISra€ B KyHiBJl abo OpoJaky 3 HACTYIIHUM

repenpoiakeM ad0 KYIIBJIEK 3 METOK OTPUMAHHS IPUOYTKY.

Kkpato + HeT B 5,08 cM

OtcdopmaTupoBaHo: LLpudT: 12 NT, KypcuB, He
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

OtcdopmaTupoBaHo: LLpudT: 12 nT, KypcuB, He
paspexeHHbIN Ha / YNIOTHEHHBIN Ha

OTcdpopMaTnpoBaHo: LLpudT: 12 NT, He pa3pexeHHblit Ha /
YNAOTHEHHBIN Ha

OTtdopmaTupoBaHo: LLpudT: 12 T, Kypcus, He

{Orqmpma'rupoaaﬂo: Moz.tabynsumm: 7,62 cm, no nesomy
{paspe»(eHHblﬁ Ha / YNNOTHEHHbIN Ha

OTdopmaTpoBaHo: LLpudT: 12 NT, aHrAMNCKUI
(CoeanHeHHOe KOPONEBCTBO), HE PaspeXeHHbIt Ha /
YNAOTHEHHbIN Ha

U U | U U | G | U | G | U | G | G | W

[OTd)OpMaTMpOBaHO: WpndT: 12 nT, pycckuii

[Ord)opma'mposauo: WpudT: 12 nT, pycckuit

[O'r(bopma'mposauo: Cnpasa: 0,63 cm




UNIT.9

A

Money ana Banking,

All values in the economic system are measured in terms of money. Our goods and services <
are sold for money, and that money is in turn exchanged for other goods and services. Coins
are adequate for small transactions, while paper notes are used for general business. There
5 is additionally a wider sense of the word ‘'money’, covering anything which is used as a
means of exchange, whatever form it may take. Originally, a valuable metal (gold, silver
or copper) served as a constant store of value, and even today the American dollar is
technically 'backed' by the store of gold which the US government main-tO tains. Because
gold has been universally regarded as a very valuable metal, national currencies were for
many years judged in terms of the so-called ‘gold standard'. Nowadays however national
currencies are considered to be as strong as the national economies which support them.
Valuable metal has generally been replaced by paper notes. These notes are issued by
governments and authorized banks, and are known as 'legal lender'. Other arrangements
such as cheques and money orders are not legal tender. They perform the function of
substitute money and are known as 'instruments of credit'. Credit is_offered only when
creditors believe that they have a good chance of obtaining legal tender when t'hey present
such instruments at a bank or other authorized institution. If a man's assets are known to be
considerable, then his credit will be good. If his assets are in doubt, then it may be difficult
for him to obtain large sums of credit or even to pay for goods with a cheque.
The value of money is basically its value as a medium of exchange, or, as economists put
it, its 'purchasing power'. This purchasing power is dependent on supply and demand. The
demand for money is reckonable as the quantity needed to effect business transactions. An
increase in business requires an increase in the amount of money coming into general
circulation. But the demand for money is related not only to the quantity of business but
also to the rapidity with which the business is done. The supply of money, on the other
hand, is the actual amount in notes and coins available for business purposes. If too much
money is available, its value decreases, and it does 35 not buy as much as it did, say, five
years earlier. This condition is known as 'inflation'.
Banks are closely concerned with the flow of money into and out of the economy. They
often co-operate with governments in efforts to stabilize economies and to prevent
inflation. They are specialists in the business of providing capital, and in allocating funds
on credit. Banks originated as places to which people took their valuable for safe-keeping,
but today the great banks of the world have many functions in addition to acting as
guardians of valuable private possessions.
Banks normally receive money from their customers in two distinct forms: on current
account, and on deposit account. With a current account, a customer can issue personal
cheques. No interest is paid by the bank on this type of account. With a deposit account,
however, the customer undertakes to leave his money in the bank for a minimum specified
period of time. Interest is paid on this money.
The bank in turn lends the deposited money to customers who need capital. This activity
earns interest for the bank, and this interest is almost always at a higher rate than any
interest which the bank pays to its depositors. In this way the bank makes its main profits.
We can say that the primary function of a bank today is to act as an intermediary between
depositors who wish to make interest on their savings, and borrowers who wish to obtain
capital. The bank is a reservoir of loanable money, with streams of money flowing in and
out. For this reason, economists and financiers often talk of money being 'liquid', or of the
'liquidity’ of money. Many small sums which might not otherwise be used as capital are
rendered useful simply because the bank acts as a reservoir.
The system of banking rests upon a basis of trust. Innumerable acts of trust build up the
system of which bankers, depositors and borrowers are part. They all agree to behave in
certain predictable ways in relation to each other, and in relation to the rapid fluctuations of
credit and debit. Consequently, business can be done and cheques can be written without
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OTcdpopMaTnpoBaHo: LLpudT: 12 NT, He pa3pexeHHblit Ha /
YNNOTHEHHBIN Ha

OTtcdopmaTupoBaHo: LLpudT: 12 nT, aHrAUickuit
(CoenuHeHHoe KOpONEeBCTBO), HE pa3peXxeHHbIn Ha /
YN/IOTHEHHbIN Ha

OTcopMaTHpoBaHoO: aHrnuiickuii (CoefnHeHHoe
KoponeBcTBo)

OtcdopmaTupoBaHo: LWpudT: 12 nT

KoponeBcTBo)

OTcpopMmaTnpoBaHo: LLpudT: 12 NT, NONYXUPHbIA, KypCuB,
He pa3peXeHHbIi Ha / YNNOTHEHHbI Ha

OTcopMmaTpoBaHo: LLpudT: 12 NT, NONYXUPHBINA, Kypcus

}
| |
( )
{ OTcdopmaTnpoBaHo: aHrnuiickuii (CoefnHeHHoe }
| |
( )
( )

OTcdopmaTupoBaHo: Mo WwrpuHe

[O'r(bopma'ruposauo: Cnpasa: 0,63 cm ]




any legal tender visibly changing hands.

Exercises

1 Answer these questions, basing your answers on the text.

a How are all values in the economic system measured?

b What kind of money is used for general business?

¢ What is the wider sense of the word 'money’ ?

d What originally served as a store of value?

e What backs the US dollar ?

f How are national currencies judged nowadays ?

g Who can issue paper notes?

h What name is given to main profit?

/ When is credit offered?

j When is a man's credit good?

k What phrase do economists use for the value of money?

/ How do we reckon the demand for money ?

m What word is used to describe the flow of money round the economic system?
n What is inflation ?

o In what way do banks co-operate with governments?

p What was the original function of a bank?

g In what two ways do banks receive money from their customers?
r What does the customer agree to do when'he opens a deposit account ?
s How does the bank make its arrangements like cheques ?

t Between whom does the bank act as an intermediary?

u Why do financiers often talk of the 'liquidity’ of money?

v What does the bank render useful ?

x What does this trust permit?

2 Say whether these statements are true (T) or false (F), and if they are false say why.
a () The US dollar is a constant store of value.

b () Instruments of credit are accepted because they can be converted easily into substitute
money.

¢ () The purchasing power of money depends upon supply and demand.

d () The demand for money is related to the rapidity with which business is done.

e () You can earn interest on a current account,

f () Legal tender must change hands when we do business and we must see it change
hands.

j () Banks lend money to depositors who need capital,

g ( ) The main profits of a banc come from lending money at a fixed rate of interest.

h () Money is described as "liquid' because it is compared to flowing water.

3. Change these conditional sentences. The form changes but the meaning remains the
same.

EXAMPLE A man can obtain money if he issues a personal cheque. =>
A man can obtain money by issuing a personal cheque.

a You can improve the factory if you install new machinery.

b You can learn something about economics if you study the basic textbooks.

¢ They could improve conditions if they changed the laws.

d You can make more money if you provide services which the public really need.

e A person can obtain some additional money if he deposits his savings with a bank for a
certain length of time.

f Business can be done without banknotes if you use instruments of credit. (Orropmaruposano: Cripasa: 0,63 c
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4. Each of these sections is part of a text on money and banking. Punctuate each section,
and then arrange them in their proper order.

A today a banks primary function is to act as an intermediary between depositors and
borrowers it serves as a reservoir of loanable money

B the term money in its widest sense covers anything which serves as a store of value and a
means of exchange legal tender is the name for actual notes issued by governments or
authorized banks while instruments of credit such as cheques act as a substitute for legal
tender

C the whole system however is based on simple acts of trust between all concerned without
this trust modern banking would be impossible

D a bank accordingly makes main profits by lending part of its store of deposited money at
fixed rates of interest these rates usually exceed the rates offered to depositors

E the purchasing power of money is dependent upon supply and demand variations
therefore occur in the amount of money actually in circulation such institutions as banks
assist in the flow of money throughout the economy.

F banks have developed greatly from their original position as places of security for
valuables today they are service industries which handle large sums of money on current
and deposit account

5. Form adjectives from these nouns:

a money b addition ¢ base

d benefit e commerce [capital
g responsibility A nature / locality
j majority k minority / relation

6. Form verbs from these adjectives:

a regular b complex ¢ simple
d relative e realistic f national
g satisfactory h selective i specific
j special k influential | indicative

7. Form nouns from these verb-adjective pairs.

a imagine: imaginative g prescribe: prescriptive
b collect: collective h describe: descriptive

¢ inform: informative f possess: possessive

d investigate: investigative j prevail: prevalent

e invent: inventive k prevent: preventive

f originate: original | vary: various

8. Translate the following sentences from Ukrainian into English:

1. BaHk — 11e KpeauTHO-(piHAHCOBA YCTAHOBA, KA HATPOMAJKYE BUIbHI TPOIIOBI KOIITH
IiANPUEMCTB Ta OpraHi3aliff, HAceNeHHs, a TaKOX 3/IHCHIOE KpenuTyBaHHS
CKOHOMIKH 1 HaceJICHHs 1 HaJa€ Pi3HOMAaHITHI MO3HKH.
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11.

BaHKiBChKHI KpeIUT — 1€ KPEIUT, 0 HATAEThC OaHKaMH MiANPUEMISIM Ta iHIINM
MO3MYATBHAKAM Y BUTTISAI TPOLIOBUX TTO3HK.

bankHoTa — e OaHKIBCHKHI OLTET; OCHOBHHMN BHJ TAamepOBUX TPOLICH, IO
BUITYCKAIOThCSA B 00 IIEHTPAJIbHUMH OaHKAaMH JepiKaB sK 3aci® rpomoBoro odiry i
TUIATeXKYy.

Baumora — e rpomnroa ofuHUIS KpaiHH, sKa nmepedyBae B 00iry. 3aCTOCOBYETHCS SIK:
1) rpomioBa oauHUI 1i€l KpaiHu Ta 11 TUI;

2) TpOLIOBi 3HAKU 1HO3EMHHX JIEPXKaB, SIKI BUKOPHCTOBYIOTh B MIXKHAPOIHUX
po3paxyHKax (iHO3eMHa BaJIIOTa).

BizncoTok — 1ie m1aTa 3a KpeauT, [iiHa 32 KOPUCTYBaHHS TO3UYCHUMH KOLITaMH.
I'oTiBKa — I1e MOHETH 1 IarepoBi rpomIi

I'pouroBuit 06ir - pyx rpomeii y roTiBKoBii i 6e3roTiBKOBii opmax.

Jlemo3uT — e rpomrosa cyma abo iHIIA [IHHICTH, BillaHa Ha 30epiraHHsL.

3onoTHii 3anmac - pe3epBHUH (OHJA 30JI0Ta B 3JIMBKAaX 1 MOHETaX, SIKMH HAJICKHUTh
HEHTPAILHOMY eMiciiHOMY 0aHKy a00 ckapOHHMIII KpaiHu.

. IHdmsmisn - obe3liHEHHS NanepoBHX TIPOMICH, IO 3HAXOAAThCA B 00iry, ToOTO

NajaiHHA TXHBOI KYMIBEIBHOI CIPOMOXHOCTI, MiJBHIICHHS I[iH HAa BCi TOoBapH i
MOCITYTH.

Kpeaut - mo3uka B rpomosiii abo ToBapHiil (opMmMi Ha ymMOBaxX IOBEPHEHHS 3
OILJIATOXO BifCOTKA.

[O'r(bopma'ruposauo: Cnpasa: 0,63 cm




APPENDIX

Most people work to earn a living, and produce goods and services. Goods are either
agricultural (like maize), or manufactured (like cars). Services are such things as education,
medicine and commerce.
Some people provide goods; some provide services. Other people provide both goods and
services. For example, in the same garage a man may buy a car or some service which helps
him maintain his car.
The work people do is called economic activity. All economic activities taken together
make up the economic system of a town, a city, a country or the world. Such an economic
system is the sum total of what people do and what they want. The work people do either
provides what they need or provides the money with which they can buy essential
commodities. Of course, most people hope to have enough money to buy commaodities and
services which are non-essential but which provide some particular personal satisfaction,
such as toys for children, visits to the cinema and books.
The science of economics is based upon the facts of our everyday lives. Economists study
our everyday lives and the general life of our communities in order to understand the whole
economic system of which we are part. They try to describe the facts of the economy in
which we live, and to explain how it works. The economist's methods should of course be
strictly objective and scientific.
We need food, clothes and shelter. We probably would not go to work if we could satisfy
these basic needs without working. But even when we have satisfied such basic needs, we
may still want other things, such as the toys, visits to the cinema and books mentioned
above. Our lives might be more enjoyable if we had such things.
Human beings undoubtedly have a wide and very complex range of wants. The science of
economics is concerned with all our needs: with the desire to have a radio as well as the
basic necessity of having enough food to eat.
So far we have suggested that economic systems are the same everywhere. This is not
entirely true. Not all economic systems in the world are the same. The economic system of
the USA differs greatly from the system in Ukraine. The American system is based on
private enterprise and is essentially capitalistic, while the Ukrainian system is based on state
ownership. The economic systems of these two nations contrast very strongly.
Britain is similar to the USA. It has an economic system based on private enterprise and
private supplies of capital. An important form of capital is surplus income available for
investment in new business activities. Property in both the US and Britain can be and is
owned by individual citizens and these citizens exercise considerable economic freedom of
choice. They can choose what they want to do and how they want to earn their living, but
are not of course entirely free to do as they wish. They must obey the law. Otherwise,
however, they can use their time, money and energy as they wish. If a person can do this,
then economists say that he is economically free. In all communities, of course, limits are
imposed upon personal freedom, limits which are sometimes very complex.
Complete economic freedom of action can create great difficulties, because the freedoms
exercised by various individuals inevitably conflict. If citizens were completely free, some
landowners might build factories in unsuitable places, while some factory owners might
make their employees work too long each day. If they were completely free, workers might
stop working when they got their first pay, and come back only when they needed more
money. Such economic anarchy could create instability in the entire economy of a country.
Laws which relate to economic conditions are sometimes concerned with contracts between
employers and employees. Sometimes they are concerned with workers' health, wages and
pensions, and sometimes with the location of places of work. Sometimes they protect the
interests principally of the workers, while at others they may be beneficial to the employers.
The government policy towards both employees and employers will T depend very much
upon the political and economic ideology which the government adopts, and may be biassed
towards employers and capital on the one hand, or workers and the problems of labour on
the other.
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Britain today has a mixed economy. In the public sector are the nationalized industries like
coal and steel, British Rail and BOAC. In the private sector are the majority of the nation's
industries, from giants like ICI and BP down to small family businesses. In 1962 the British
government set up an official planning body known as the national Economic Development
Council, a body which would help to plan national production and set up production targets.
The members of the NEDC are representatives of both the employers' federations and the
TUC, together with members of the government, eminent industrialists and leading
economists. It is however a very difficult matter to plan ahead in a mixed economy. It is not
possible to plan ahead with any certainty even in a rigidly controlled economy, because
natural disasters, political changes and other factors can affect the general plan in
unexpected ways..

Exercises:

1. Answer these questions.

a)What do the economists study?

b)What is the science of economics concerned with?

c) Why does a complete economic freedom of action create great difficulties?

d)What are prices in a American and British systems related to?

e) What does the price system depend upon?

f) When does production fall ?

9

2. Below are 45 words taken from earlier units. Make each word negative by adding a
suitable prefix: non—, un— or in— (or il-, dis-, ir- as required).

economic available organic
active probable sufficient
distinct regular conditional
legal mobile complete
systematic productive desirable
public legible essential
definite important usual
dependent logical stable
secure adequate equal
industrial proper necessary
practical rational solvent
scientific suitable conclusive
relevant personal political
satisfactory enjoyable expert
frequent responsible expected

3. Combine these pairs of sentences by means of if, in order to make new conditional
sentences. It may be necessary to change some words in some of the sentences in order to
make complete sense.

a We have a car. / We can be much more mobile.

b You want to get a new house. / You must earn a lot of moriey.

¢ You will complete the work more rapidly. / You all work together on it.

d We buy these goods this week./ We may be able to sell them next week, and make some
extra money.

e You buy your essential _commodities from us. / Perhaps we shall be able to sell them to
you more cheaply than other shops.

f There is no system of control. /Certain people may decide to build factories in unsuitable

places and employ workers for long hours. ( Ovdopmaruposaro: Crpasa: 0,63 ci
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g They may increase their output, / Their employers provide better working conditions.

h We may provide some help now. / You undertake to help us later.

4. Composition. Write about 400 words on the topic "Mixed Economies’. Your work
should be in two parts:

(i) an introduction on economic systems in general;

(if) mixed economies in particular.

Use the material provided in the texts and exercises.
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A
(to) accumulate

VOCABULARY

HarpoMauKyBaTu

accumulation

HarpoMaJuKCHHA

(to) allocating funds on credit

DPO3MIIIYBATH KAITITAJI 10 KPEAUTAX

anti-trust laws

AHTUMOHONOJIbHI 3aKOHU

assets

AKTHBH, OCHOBHI (DOH/IH

available supplies

HasBHI PECYPCH

I\

[O'rq:opma'ruposano: WpndT: 12 NT, yKpanHckwii

B
banker OaHKIp
bargain TOPIYBAaTUCSL, IOMOBJISITUCS. IIPO LIIHY

basic necessity

OCHOBHA HOTDe6a

basic necessity

OCHOBHA 110Tpeda

basic needs OCHOBHI (IIEPBUHHI) TOTpeOH
(to) bear this risk OpaTu Ha ce0e PU3HK
beneficial BUTIHUM, TpUOYTKOBUM

(to) bias BiaxXmaTHCs

(to) borrow ro3uuatu (cooi)

borrower O3MYAIEHUK

business activity

0i3HECOBA ISILHICTH

C

centrally-planned LIEHTpaTi30BaHE ILIAHYBAHHS
cheque YeK

circulation 00ir

(to) classify xnacudikyBatu

coins MOHETH

commerce TOPTiBJIS

commodities KpaMm, TOBap, IPOIYKT
commodity peaMeT CII0KUBAHHSL;
community CYCITIIBCTBO, O0IIKHA
competition KOHKYPCHITISI

constant store of value MOCTIHHMIA 3a1ac IHHOCTEN
consumer CIIOKMBa4d

consumer's stock

CIOKUBUUKM ACOPTUMEHT

contract

KOHTPAKT, YroJjia

cornering the market

CHCKYJTIIOBAHHS HA PUHKY

countries Kpainu
credit KDEAUT
creditor KPEAUTOD

current account

TMOTOYHHMH PaXyYHOK

current price

[IOTOYHA LIiHA

I\

[O'rq:opma'ruposano: WpndT: 12 NT, yKpanHckwii

D
debit neber

demand IIONIUT

demand for money TDOLIOBUI IOMIUT
demand [IOIIUT

deposit account JICIIO3UTHUN PaXYHOK
depositor BKJIQJIHUK
deteriorate [ICYBATHCS

- [O'rd:opMa'mponaHo: Cnpasa: 0,63 cm




(to) diminish

3MeHIyBaTh(cs), ckopouyBaTu(csi)

diminishing utility

SMCHIICHHS KODI/ICHOCTi

distinctions of social class DI3HMIISA MiXkK COIIaTbHUMHU KJIacaMU

I\

[O'rqaopma'ruposano: WpndT: 12 NT, yKpanHckwii

E
(to) earn a living

3ap06n51’r1/1 Ha KHUTTA

economic activity

E€KOHOMIYHA JIsUTbHICTE

economic anarchy

E€KOHOMiYyHa aHapXis

economic anarchy

S€KOHOMIYHA aHapXis

economic condition

E€KOHOMIYHA yMOBa

economic conditions

E€KOHOMIiYHi YMOBH

economic freedom of action

€KOHOMiuHa cB0o0O1a Jiil

economic freedom of choice

eKOHOMiYHa cB0001a BUOODY

economic life

€KOHOMIYHE JKUTTS

economic policy

€KOHOMIYHA ITOJIITHKA

economic system

E€KOHOMIYHA CHCTEMA

economically free

€KOHOMIYHO BiJIbHHIA

[OTd)DpMaTMpOBaHO: WpndT: 12 NT, yKpanHckwii

economics CKOHOMiKa (HayKa)
economist E€KOHOMICT
economy EKOHOMIKa
economy E€KOHOMiKa
economy EKOHOMIKH

elastic THYYKHH

elasticity of demand

THYYKICTB ITOIHUTY

employee

HaWMaHWH IIpaIliBHUK

employee MpaleaaBelb
employer poboTOIaBELb, HAMMAY
employer MpaliBHUK

employers' federations

dbeneparii cayx00BIIB

essential commodities

peAMETH nepioi HeoOXiAHOCTI

excess

HaAJIMIIIOK

expenditure

BUTpaTa

E
factor of production

hakTop BUpOOHHMIITBA

factory owner

BJIACHUK 3aBOIY

(to) finance

dbizancyBatn

financial reward

CPOLIOBA MIPEMist

financial sacrifice

I'pOIIOBA ITOKEPTBA

fixed payment

(ikcoBaHa ormiara

fixed price TBepa, hikcoBaHa miHa
flow of money TPOLIOBHM IOTIK
flowing SIKI TEYYTh

(to) fluctuate KOJIMBATHUCS
fluctuation KOJIMBAHHS

free market

BIILHUI PUHOK

A

[O-rcbopma'ruposano: WpundT: 12 AT, yKpauHCKuit

[O'rd)opMa'mponaHo: WpundT: 12 AT, yKpauHCKuit

G,

glut 3aTOBApPIOBAHHS, HA/IHIIIOK
'gold standard' 30JI0THH CTAHIAPT

good TOBaP; NPOJLYKT

government policy

[OJITHKA YDSLY

government policy

YPSIOBA IOTITHKA

[ OTchopMaTMPOBaHO: YKPaUHCKUI

- [O'rd:opMa'mponaHo: Cnpasa: 0,63 cm




H
heavy industry

BaKKa HDOMI/ICJ'IOBiCTL

household goods

rocnoz[apcm(i TOBAapu

human labour

JIFOJICHKA ITPALIst

income IpUOYTOK

inelastic demand NOCTIHMHA OIUT

inelastic MOCTIHHMN , HETHYYKUI

inflation i

instability HECTAOUIBHICT

instruments of credit 3ac00M (IHCTPYMEHTH) KDEAUTYBAHHS

interest BiZICOTKH

intermediary [TOCEPETHHUK

invested capital BKJIAJCHUN KaIiTa

investment iHBECTYBaHHSI

investment 1HBECTHUILIS

. [O-rcbopma'ruposano: WpundT: 12 AT, yKpauHCKuit
J

(to) justifiy BUIIPABIOBYBATH

N [OTdJopMa'mponaHo: WpuncT: 12 AT, yKpauHCKuit
L

labour pars

landowner 3eMJIEBJIACHUK

Law of Diminishing Marginal Utility3axon 3MeHIIEHHsSI MEKOBOI KOPUCHOCTI

[O'rd)opna'mposano: WpundT: 12 AT, yKpauHCKuii

Law of Supply

3aKOH IIPOIO3MIIIT

‘legal lender’ 3aKOHHMIA O3UYaIbHUK

legal monopolies

[IPaBOBi MOHOIIOJIT

(to) lend MMO3WYATH (KOMVCb)
limit Mexa
loanable SIKi MOYKHA TTO3UYUTH

long-term plans

JIOBCOTEPMIHOBI IIJIAHU

loss of money

TPOLIOBI BTPAaTH

loss of production

BTpaTa BUPOOHUIITBA

luxuries PEIMETH PO3KOIII

R [OTdJopMa'mponaHo: WpudT: 12 NT, yKpauHckuii
M [ OThopMaTMPOBaHO: YKpaNHCKUI

main profit OCHOBHHU MPHOYTOK

marginal utility

MECXKOBa KODI/ICHiCTB

market conditions

PHUHKOBI YMOBU

market

DUHOK

market-days

DUMHKOBI JIHI

marketplace

PUHKOBA IJI011a

material needs

MarepiajibHi IoTpeon

maximum security

MaKkcUMallbHa Oe3reka

mean_(medium) of exchange

3aciib oOMiHY

means of production

3ac00M BUPOOHHMIITBA

measurable

SIKAI MOYKHA BUMIDSITH

merging

3JIATTA, TOTJIMHAHHSA

mixed economies

3MilIaHa EKOHOMIiKa

money order

TPOIIOBMI ITepeKa3

money payment

I'pomioBa BUILIaTa

money

rpoIiri

(to) monopolize

MOHOIIOJII3YBATH

- [O'rd:opMa'mponaHo: Cnpasa: 0,63 cm




monopoly MOHOIIOJIist

[O'rq:opma'ruposano: WpndT: 12 NT, yKpanHckwii

I\

N
national currency HAL[lOHAJIbHA BAJIIOTA
National Economic Development Hanionansna Paja 3 nutans EKOHOMIYHOrO
Council (NEDC) Poszeurky (HPEP)
national labour force HallioHAIbHA Po0OoYa cria
national production HalllOHAJIbHE BUPOOHUIITBO
nationalized industry HAaIliOHATi30BaHa MPOMHUCIIOBICTh
nation's industry HalLliOHAJIbHA IPOMUCIIOBICTE
natural monopolies MIPUPOJIHI MOHOITOJIT
negotiated rate 00YMOBJICHA CTaBKa
non-perishable goods NPOAYKTH TPUBAJIOTO 30epiraHs
R [O'rd)opMa'mponaHo: WpundT: 12 AT, yKpauUHCKUit
o
over-production IePEBUPOOHHIITBO
R [OTd)DpMaTMpOBaHO: WpndT: 12 NT, yKpanHckwii
P
paper notes [anepoBi rpouti
(to) pay the expense OIUIATUTH BATPATH
pay miaTa
payment of wages TUYKHEBA BUILIATA
pension HeHCis
perishable goods MPOJIYKTH, SIKI IIBHJIKO MCYIOTHCS
personal cheques 0Co0MCTI YeKn
personal freedom ocobucTta cBoboaa
(to) plan ahead [JIAHYBATH Ha MAiOyTHE
planning body Opra IUIaHYBaHHS
(to) plough back BiIKOTUTHCS Ha3aq
policy of saving surpluses MOJITHKA 30ePEKCHHSI HAJUTUIIKIB
(to) possess BOJIOJIITH
(to) prevaile [IepEBAYKATH, ITPEBATIOBATU
(to) prevent 3a1100iraTH, MonepeHKyBaTi
priority repeBara, nepuricTb
private business PUBATHHUN Oi3HeC
private enterprise [PUBATHE MiAITPUEMCTBO
private ownership MIpUBATHA BIACHICTH
private possessions OPUBATHE BOJIOJiHHS
private sector IIPUBATHUH CEKTOD
(to) produce BUPOOIATH
production target LIJIb BUDOOHUIITBA
productive work [IPOAYKTUBHA Mpals
profit pUOYTOK
property BJIACHICTh
property BJIACHICTH
to) protect the interests 3aXUILATH IHTEPECH
(to) provide 3a0e31euyBaTh
(to) provide the capital Ha/IaBaTH KaIliTaJl
public sector JIepKABHUIN CEKTOD
purchase MOKYIIKA
purchasing power KYIIiBEIbHA CIIPOMOKHICTH
R [O'rd)opMa'ruposaHo: WpundT: 12 AT, yKpauHCKUii
R [ OTchopMaTMPOBaHO: YKpaNHCKUI
(to) rate OLiHIOBATH, BBAXKATHU, TapUDiKyBaTH - ordropmatuposamo: Crpasa: 0,63 cw
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rate

CTaBKa

relative demand

BiJIHOCHMI HOIHUT

(to) render (the services)

HajaBaTu (IIOCIYIH)

reservoir

CKJIaJI, MicIie 30epiranHs

(to) restrict

00OMEXKYBATH

rigidly controlled

CTPOro KOHTPOJbOBAaHA

I\

[ OtcdopmaTUpoBaHo:

WpndT: 12 NT, yKpanHckwii

S

safe-keeping Oe3neune 30epirans
(to) satisfy 3aI0BOJIBHATH
savings 3201 DKECHHS

scale of preferences 1Ikajga npedepenttiin
self-employed BiJIbHOHAWMAaHUI
seller MIPOIABEb

service ocjayra

(to) share JIUTATH

sole trading opportunities MOYJIMBOCTI OJIHOOCIOHO TOPIYBAaTH
(to) stabilize crabinizyBaTu

standard

CTaHIapT, 3pa30K

state funds of money

JIep KaBHI rpoloBi GoHaH, (KamiTaau)

state monopolies

JIEp’KaBHI MOHOIIOMI 1

statistics CTATUCTHKA

streams of money TDOILIOBI IOTOKH
sum-total CYKYIIHA KUJIBKICTh
supplies of capital KaliTaJ0OBKJIAICHHS
supply PONO3HUILis

supply of money TPOLIOBA [IPOMO3HUILIS
surplus income Ha/UTMIIIKOBUI IIPUOYTOK
surplus HAJUTUIIIOK

system of banking

0OaHKIBChKA CHCTEMA

under-developed

cJ1a00pO3BUHEH]

(®paHuums)

R [O'rd)opMa'mposaHo: WpundT: 12 AT, yKpauHCKUit

.I [O-rcbopma'ruposano: paHuy3ckuit (OpaHums)

Trades l_JnIOI’I npodceminka {Oﬂbopnamponano: LUpndT: 12 NT, hpaHLy3CcKuit

transactions TpaH3aKI[i (PpaHums)

trust TpacT, KPEIWT, JIOBipYa KOMIIaHis | OrdropmaTuposano: LpudT: 12 T, dhpaHLy3cKmii
| (®panuns)

AU {O'rq:opmaruposano: WpndT: 12 nT, hpaHLy3cKuit

o o A A )

unemployent HE3alHATICTh, 0€3p00ITTs OtdpopmaTuposano: WpndT: 12 nr, pycckii
unit TOBaPHA OJIMHUIISL, BUPIO OTdopmaTHpoBaHo: pycckiit
unrestricted He3a00pOHEHUH, HEOOMEEKEHU I
utility KOPUCHICTh, BUTLAHICTE
. [O-rcbopma'ruposano: WpundT: 12 AT, yKpauHCKUit
M [ OThopMaTMPOBAHO: YKPAUHCKUI
valuable metal JIODOTOIIHHAN METAJI
value of things BaPTiCTh TOBAPIB
ﬂ [O'rd)opma'rupoaauo: aHrnuiickuii (CLUA)
wage 3apo0iTHA 11aTa (THXKHEBA)
want OakaHHs
willingness OarkaHHs
working population paIe3aTHe HACCICHHS

- [O'rd:opMa'mposaHo: Cnpasa: 0,63 cm




economics
economist
community
economy

to satisfy

basic needs
want

material needs
basic necessity
to earn a living

A

eKOHOMiKa (HayKa) “«

EKOHOMICT

CYCHIBCTBO, OOIIMHA
EKOHOMiKa

3a70BOJIBHATH

OCHOBHI (TIEpBUHHI) TOTpeOH
OarkaHHS

MarepiaibHi moTpedn
OCHOBHA NoTpeda

3apO0JIATH HA KHUTTS

OtcdopmaTupoBaHo: Otcryn: Cnesa: 1,27 cm,
Moz.Tabynsumu: 7,94 cM, No neBoMy Kpaio

OTcopmaTupoBaHo: LLpudT: 12 T, ykpamHckuit

to produce

good

service
commerce

to provide
economic activity
economic system
sum-total
commodity

private enterprise
private ownership
means of production
supplies of capital
surplus income
investment
business activity
property
economic freedom
of choice

property
economically, free
limit

personal freedom
economic freedom
of action
landowner
factory owner
employee

pay

economic anarchy
instability
unemployent

loss of production
economic condition
contract

employer

wage

pension

protect the interests
beneficial
government policy
to bias

BUPOOIIATH

TOBap

mocIyra

TOPTiBIIA

3abe3neqyBaTh
€KOHOMIYHA TisUTBHICTE
cucTemMa

CYKyIIHa KiJIbKiCTh

1) npeaMeT CIO>XUBaHHS;
2) ToBap; 3) MPOXYKT
HPHUBATHE HiJIPUEMCTBO
TIPUBATHA BIACHICTh
3aco0H BUPOOHHUIITBA
KaITiTaJIOBKJIaICHHS

Ha UTMIIKOBHUI TPHOyTOK
IHBECTYBaHHS

6i3HecoBa JisIBHICTD
BJIACHICTh

€KOHOMi4Ha cBo0OOIa
BHOOPY,

BJIACHICTh

€KOHOMIYHO BUIbHHUI

OTtcdopmaTnpoBaHo: LLpudT: 12 T, ykpamHckui

OTtcdopmaTupoBaHo: LLpudT: 12 T, ykpamHckui

o U A )

(
(
[O'rd)opma'ruponauo: WpndT: 12 NT, yKpanHckwii
(
(

OTtcdopmaTupoBaHo: LLpudT: 12 NT, yKpauHckuit

[Ord)opma'mponauo: WpncT: 12 NT, yKpauHckwit ]

[O'r(bopma'ruposauo: WpundT: 12 AT, yKpauHCKUit ]

Mexa

ocobucra cBoboza
eKOHOMi4Ha cBOOOzA

i

3EMJICBIIACHUK

BJIACHUK 3aBOZY

HaliMaHHH MpaI[iBHAK
iara

EKOHOMIYHa aHapXis
HecTablIbHICTh
He3alHATICTb, 6e3p00iTT «
BTpaTa BUPOOHHIITBA
E€KOHOMIYHA YMOBa
KOHTpAKT, yrojia
poGoTtonasenpb, HafiMay
3apo0iTHa 1iaTa (THKHEBa)
TIeHCist

3aXHIIATH IHTEPECH
BUTiIHUH, TPHOYTKOBUH
ypsIIOBa MOJITHKA
BIAXUIIATHCS <

[O'rd:opMaTuposaHo: WpndT: 12 NT, yKpanHckwii ]

OtcdopmaTupoBaHo: Otcryn: Cnesa: 1,27 cm,
Moz.Tabynsumu: 7,94 cM, no neBoMy Kpato + HeT B 6,98 cm

OtdopmaTuposaHo: Otcryn: Cnesa: 1,27 cm,
Moz.Tabynsumm: 7,94 cM, no neBoMy Kpaio

{Ord)opna'mponauo: Moz.tabynsumm: 7,94 cm, no nesomy }
Kpato

[O'r(bopma'ruposauo: Cnpasa: 0,63 cm ]




to classify

economic conditions
under-developed
countries

long-term plans
public sector
private sector
mixed economies
economic life
nationalized industry
nation's industry
planning body
economic policy
National Economic
Development
Council (NEDC)
employers' federations
Trades Union
national production
production target
to plan ahead
rigidly controlled
economy
commodities

utility

consumer

to rate

priority
centrally-planned
economy

demand

excess

relative demand
consumer's stock
to bargain
expenditure

fixed price

unit

purchase

loss of money,
financial sacrifice
current price
marginal utility
to diminish

Law, of Diminishing,

knacudikysatu “«
EKOHOMIYHI YMOBH

c1abopo3BUHEHI

KpaiHu

JIOBFOTEPMIHOBI TUIAHU

JIEPIKaBHUHN CEKTOP

MPUBATHUH CEKTOP

3MillIaHa EKOHOMIiKa

E€KOHOMIYHE JKUTTS

HalliOHaJIi30BaHa IPOMUCIIOBICTh “«
HaIllOHaIbHa IPOMHCIIOBICTh <
OpraH IUIaHyBaHHS

€KOHOMIYHA ITOJIITHKA

HarmionansHa Pasa 3

nutadb EKOHOMIYHOTO

Possutky (HPEP)

(eneparrii ciryx00BIIB

npodcminka

HalliOHAJIbHE BUPOOHUIITBO «
LTb BUPOOHUIITBA

TUIaHYBaTH Ha MaiiOyTHE

CTPOro KOHTPOJIbOBaHA

E€KOHOMIKa

KpaM, TOBap, MPOIYKT «
KOPHCHICTh, BUTiTHICTb

CIIOKHBAY

OLIIHIOBATH, BBAXKATHU, Tapu(DiKyBaTH

riepeBara, IepuricTb
[[EHTpaIli30BaHEe TIAaHYBaHHS
CKOHOMIKH

MOHUT

HaJUTAIIOK

BITHOCHMH IOIMHUT

CITO’KMBYNI aCOPTUMEHT
TOPTYBATHCS, IOMOBIISITHCS MPO LIHY
BUTPATH

TBepAa, (hikcoBaHa IliHa

TOBapHa OJUHUIIS, BUPIO

MOKYTIKa

TPOLIOBI BTPaTH

TPOIIOBA MOXKEPTBA

MOTOYHA IiHA

MEKOBa KOPHUCHICTb
3MeHIyBaTu(cs), CKopouyBaTu(cs)
3aKOH 3MEHIIICHHS,

OtcdopmaTupoBaHo: Otcryn: Cnesa: 1,27 cm,
Moz.Tabynsumu: HeT B 6,03 cM

OtcdopmaTupoBaHo: Otcryn: Cnesa: 1,27 cm,
Moz.Tabynsumn: 7,94 cM, no nesoMy kpato + HeT B 6,03 cm

|

OtdopmaTuposaHo: Otcryn: Cnesa: 1,27 cm,
Mo3.Tabynsuun: HeT B 6,03 cM

|

OtcdopmaTupoBaHo: Otcryn: Cnesa: 1,27 cm,
Moz.Tabynsumn: 7,94 cM, no nesoMy kpato + HeT B 6,03 cM

|

OtcdopmaTuposaHo: Otcryn: Cnesa: 1,27 cm,
Moz.Tabynsumm: HeT B 6,03 cM

[O'rd)opma'ruponauo: WpndT: 12 NT, yKpanHckwii

OTtcdopmaTnpoBaHo: LLpudT: 12 N, ykpamHckuii

Marginal Utility

MEKOBOi KOPHUCHOCTI

OT1cdopmaTupoBaHo: LLpudT: 12 NT, yKpauHckuii

OTtcopmaTupoBaHo: LLpudT: 12 T, ykpamHckui

(
(
[O'rd)opma'ruponauo: WpndT: 12 NT, yKpanHckwii
(
(

OTdopmaTupoBaHo: LLpudT: 12 NT, ykpamHckuit

O L )

[O'r(bopma'ruposauo: Cnpasa: 0,63 cm
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